Articulated robots

YA

CLEAN

Z
<
L
-
o,

>
-
-

CLEAN ROBOTS
CONTENTS

SINGLE-AXIS

SCARA YK-XC

CARTESIAN XY-XC

Main functions » P50



CLEAN ROBOTS SPECIFICATION SHEET

Clean single-axis robots

O®TRANSERVO

* Degree of cleanliness CLASS 10
* Intake air 15 to 80N£&/min

=
=
=
- 2
>38
S
o
<1
@

se|npow
10A8AU0D JEBUIT

00LWD1

e
;% g Model | Lead Pa(’n’('&“ Stroke (mm) and maximum speed (mm/sec) Detailed info
ST mm age
@nx3 (™) | orizontal| Vertical | 50 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 pag
3 a
2¢* 12 2 1
O ° ssco4 | 6 4 2 PAM
o 2 6 4
z 20 4 = | 933 | 833 | 733 | 633
X sSC05 | 12 6 1 | 560 | 500 | 440 | 380
g 6 10 2 | 280 | 250 | 220 | 190
o 20 6 - | 933 | 833 | 733 | 633
B 8 - | 560 | 500 | 440 | 380
| sscosH - 2 | 440 | 380
= . 12 - | 280 | 250 | 220 | 190
g - 4 | 220 | 190
g
=
)
]
@FLIP-XC
: Not
* Degree of cleanliness C4L/C4LH/C5L/C5LH/C6L ...................... ISO CLASS 3 (1ISO14644-1) ™

Models other than those shown above .... CLASS 10

Note. Class 10 (0.1um) equivalent to FED-STD-209D

* Intake air 20 to 90N£/min

AC servo - Payload Stroke (mm) and maximum speed (mm/sec
3 Model | motor Rep?:‘trzl):nllty 2":'3:) (kg) (mm) peed { )
§= output (W) Horizontal| Vertical 150 | 200 | 250 | 300 | 350 | 400 | 450
=3
- g 12 | 45 1.2
caL/
St 30 +-0.02 6 6 2.4
2 6 7.2
20 | 3 =
@)
— C5L/
m o 30 +-002 | 12 | 5 1.2
Z 6 9 2.4
20 | 10 -
- cbL 60 +-002 | 12 | 12 4
% 6 30 8
= 20 | 12 - | 900 | 800 | 700 |
e cs 100 +-002 | 12 | 20 4 648 | 540 | 468 360
=
= 6 | 40 8 | 324 | 270 | 234 | 180
=
- 20 | 20 4 | 800 | 7
= csL 100 +0.01 | 10 | 40 8 | 390 | 3
% 5 | 50 [ 16 | 195 |
> 20 | 30 = 0 | 700 |
o) C8LH | 100 +-0.01 | 10 | 60 = 390 | 360 | 33
2= 5 | 80 = 195 | 180 | 165 \ )
20 | 20 4 950 750
c10 100 +-001 | 10 | 40 10 ne 375
5 | 60 20 237 187
20 | 30 4 950 750
- cl4 100 +-001 | 10 | 55 10 475 375
g 5 | 80 20 237
%_ 20 | 40 8 950 750
> C14H 200 +-001 | 10 | 80 20 475 375
» 5 | 100 | 30 237
Q 20 80 15 1000
z c17 400 +-0.01
2 10 | 120 35 500 400
o | w0 | o [ ® | w0 | 10 A
20 | 120 25 1000 800
c20 600 +-0.01
10| - 45 500 400

W 438



1000

1050

1100

1150

1200

1250

1300

1350

1400

1450

1500

1550

1600

1650

1700

1750

1800

1850

1900

1950

2000

2050

Detailed info
page

C4L:
CALH:

C5L:
C5LH :

439



@ XY-XC
* Degree of cleanliness CLASS 10
* Intake air 60 to 90N£/min
* Aperture designed to minimal dimensions by use of stainless steel sheet
* Installed clean robot dedicated cable duct

\

==

Note : User cable D-Sub 25 pin connector
: 24 conductors, 0.3 sq

(No. 1 through 24 are already
connected and No.25 is for grounding)

Note : User tube three ¢6 air tubes

Arm variations

Special model for clean rooms with
moving Y-axis carriage installed
upward.

Type Model Axis Moving range Ma)zll_lr:inl_ljlr;esg)eed Manmu(rl;n“:,;)ayload Detapllazdelnfo
X 150 to 1050mm 1000
2 axes SXYXC 20
Y 150 to 650mm 1000
X 150 to 1050mm 1000
SXYXC (ZSC12) Y 150 to 650mm 1000 B]
z 150mm 1000
3 axes
X 150 to 1050mm 1000
SXYXC (ZSC6) Y 150 to 650mm 1000 5
z 150mm 500
X 150 to 1050mm 1000
Y 150 to 650mm 1000
SXYXC (ZRSC12) 3
z 150mm 1000
R 360° 1020°/sec
4 axes
X 150 to 1050mm 1000
Y 150 to 650mm 1000
SXYXC (ZRSC6) 5
4 150mm 500
R 360° 1020°/sec
* Degree of cleanliness YK-XC ........ccccvveeenn. CLASS 10

YK-XGC/YK-XGLC...ISO CLASS 3 (ISO14644-1) "'

Note. Class 10 (0.1um) equivalent to FED-STD-209D

* Intake air 30 to 60N£/min
* Harness placed completely on inside

* Bellows cover fitted in axial tip

-

Passed 20 million stroke
durability test

Arm length (mm) and XY axis combined maximum speed (m/s Standard | Maximum R axis tolerable iled i
Type Model ath ( ) P (mis) cycle time| payload moment of2 Detal;la(;delnfo
120 [ 150 [ 180 | 220 | 250 | 300 [ 350 | 400 [ 500 | 600 | 700 [ 800 | 900 [10001200| (sec) (kg) | inertia (kgm’)
Extra YK180XC 0.42 1 0.01
small
type YK220XC 0.45 1 0.01
YK250XGC 0.57 4 0.05
Small
type YK350XGC 0.57 4 0.05
YK400XGC 0.57 4 0.05
YK500XGLC 0.74 4 0.05
Medium| YK500XC 053 10 0.12
type | YK600XGLC 0.74 4 0.05
YK600XC 0.56 10 0.12
YK700XC 0.57 20 0.32
Large
type YK800XC 0.57 20 0.32
YK1000XC 0.60 20 0.32

440




Slider type

i |7 S2

|

-
50 to 400 iL: 1m PN: PNP
B: With brake Z: Non-motor side (50mm pitch) | [3L: 3m [CC: CC-Link
SL: Sm DN: DeviceNet™
foL:1om | EP: EtherNet/IP™
PT: PROFINET
IGW: No I/O boardt+

Note 1. If changing from the origin position at the time of purchase, the machine reference amount must be reset. For details,

refer to the manual. - SH | |—| |
Note 2. The robot cable is flexible and resists bending.
Note 3. See P.500 for DIN rail mounting bracket. 110 B Battery |
Note 4. Select this selection when using the gateway function. For details, see P.62. [SH: TS-SH INP: NPN B: With battery
IPN: PNP (Absolute)
ICC: CC-Link N: None
IDN: DeviceNet™ (Incremental)
EP: EtherNet/IP™
Motor 42 [] Step motor P PROFINET
Repeatability "' (mm) +/-0.02 GW: No I/0 boarde+
Deceleration mechanism Ball screw ¢8 SD 1
Maximum motor torque (N-m) 0.27
Ball screw lead (mm) 12 6 2
Maximum speed (mm/sec) | 600 300 100 ISD: TS-SD 1 1m
Maximum Horizontal 2 4 6
payload (kg) Vertical| 1 2 4
Max. pressing force (N) 45 90 150 A
Stroke (mm) 50 to 400 (50mm pitch) %
Overall length |Horizontal Stroke+216 B c A c H c
(mm) Vertical Stroke+261
Maximum outside dimension Horizontal install (unitmm) ~ Wall installation (unit: mm)  Vertical installation (unit: mm) (Unit: N-m)
of body cross-section (mm) W49 x H59 A B [ A B [ A C MY MP MR
Cable length (m) Standard: 1/Option: 3,5,10 S| 1kg| 807| 218 292 | 1kg| 274| 204] 776 | 0.5kg| 407 408 16 19 17
Degree of cleanliness CLASS 10 o2 3| 2kg| 667] 107] 152 8| 2kg| 133] 93| 611 8| 1kg| 204 204
Lead12 | Lead6 | Lead2 °
Intake air (N&/min) g 2kg| 687 116| 169 : 2kg| 149| 102| 656 T 1kg| 223| 223
50 30 15 S| 3kg| 556 76| 112 §| 3kg| 92| 62| 516 S| 2kg| 107| 107
Note 1. Positioning repeatability in one direction. | 4kg| 567] 56| 84 | 4kg| 63] 43 507 | 2kg| 118 118
Note 2. Per 1cf (0.1um base), when suction blower is used. g 4kg| 869 61 92 g 4kg 72 48] 829 § 4kg 53 53 _Controller |Operation method
3 3 TS-S2 1/0 point trace /
3 6k 3 6k
= 9| 863 40 60 3 9 39 29) 789 TS-SH Remote command
Note. Distance from center of slider upper surface to conveyor center-of-gravity at a guide service life _ .
of 10,000 km (Service life is calculated for 400mm stroke models). TS-SD Pulse train control
SSC04
Approx. 200 (Cable length) 161+/-2: When origin is on motor side Effective stroke 55: When origin is on motor side)
30.5 (161: When origin is on non-motor side) ‘ 55+/-2: When origin is on non-motor side
13 Cable securing position (Note 3) 124+/-1 (Note 1) 21 2-$p3H7 Depth6 18+/-1 (Notet
. ‘ 7] /44 x0.7 Deptr
~ Y [ €&
1f \ \ . .
w0l i // : g
< 2 —/ X xS =
169+/-1 (with brake) (Note 1) =4
125 206+/-2 (with brake): When origin is on motor side %
(206 with brake: When origin is on non-motor side) ol=
176 (with brake) H
Mounting 131 = C
2-$6 Suction air joint direction: LJ 68 — 41
Mounting direction: 35 Slw 25
RJ (NoleQZ) [ T ’- | ] @'5“\ 8 ol 1
/ ‘ — al CT s g =]
2 ! T 5 r
LO( o g %
< - @D ]
3 = B : /
115 L
(15) 49 L+45 (with brake)
182.5 (with brake)
137.5 Ax50
@ 50 B-M5 x 0.8 Depth8
T f f
<
| T & N & & Py & t—dy¥ - &
I L i ® —@ hd A =@
I I
&} £ |©
$4H7(*3%12 ) Depth 6 B 12
162.5 D -
207.5 (with brake)
Effective stroke| 50 100 150 200 250 300 350 400 Note 1. Stop positions are determined by the mechanical stoppers at both ends.
Note 2. Either right or left can be selected for the suction air joint mounting direction.
L 266 316 366 416 466 516 566 616 This drawing shows the RJ (standard) direction.
A 2 3 4 5 6 7 8 9 Note 3. Secure the cable with a tie-band 100mm or less from unit’s end face to prevent the cable from being
subjected to excessive loads.
B 3 4 5 6 7 8 9 10 Note 4. The cable’s minimum bend radius is R30.
C 50 100 150 200 250 300 350 400 Note 5. These are the weights without a brake. The weights are 0.2kg heavier when equipped with a brake.
Weight (kg)"*°*| 1.5 1.6 1.7 1.8 | 20 | 21 22 | 23

TS-S2 » 492 TS-SH » 492 | TS-SD » 502 | 441




Slider type

§SC05 { | S

Direction of air

50 to 800 iL: 1m

B: With brake LJ: Left |Z: Non-motor side | |[(50mm pitch) | [3L: 3m

5L: 5m
10L: 10m

Note 1. Only the model with a lead of 12mm or 6m

Note 2. If changing from the origin position at the time of purchase, the machine reference amount must be reset. For details,

refer to the manual.

m can select specifications with brake.

Note 3. The robot cable is flexible and resists bending.

Note 4. See P.500 for DIN rail mounting bracket.

Note 5. Select this selection when using the gateway function. For details, see P.62.

S2: TS-S2 Note4 INP: NPN

PN: PNP

ICC: CC-Link

DN: DeviceNet™

EP: EtherNet/IP™

PT: PROFINET

IGW: No /O board"es

Robot positioner
SH: TS-SH

INP: NPN B: With battery
PN: PNP (Absolute)
ICC: CC-Link N: None

DN: DeviceNet™ (Incremental)

EP: EtherNet/IP™

Motor — 42 [] Step motor BT PROFINET
Repeatability (mm) +/-0.02 IGW: No I/0 boardees
Deceleration mechanism Ball screw ¢12
Maximum motor torque (N-m) 0.27 - SD 1
Ball screw lead (mm) 20 12 6 Robot " 10 cable
Maximum speed (mm/sec) “*°*| 1000 600 300 M H
Maximum [Horizontal| 4 6 10
payload (kg) | Vertical| - 1 2
Max. pressing force (N) 27 45 90 A
Stroke (mm) 50 to 800 (50mm pitch)
Overall length |Horizontal Stroke+230 >
(mm) | Vertical Stroke+270 B c A c H ¢
Maximum outside dimension W55 x H56
of body cross-section (mm) i Horizontal installation (unit mm)  Wall installation  (unit: mm)  Vertical installation (nit: mm) (Unit: N-m)
Cable length (m). Standard: 1 /Optlaq: ;3 5,10 A B c A B Cc A c MY MP MR
Degree of cleanliness | 2%'1’?_?}2;102 Ceads- S| 2| 413 139 218 & 2 192 123 372 S[08kg 678 579 _ 25 33 30
Intake air (N&/min) 80 | 50 | 30 8| 4kg| 334] 67| 120 8| 4akg| 92| 51| 265 S| 1kg| 286| 286
Note 1. Positioning repeatability in one direction. S 4kg| 347 72| 139 E 4kg| 109 57| 300 % tkg| 312 312
Note 2. When the stroke is longer than 650mm, resonance of the ball ] 6kg| 335 47 95 3 6kg 63 31 263 © 2kg| 148| 148

screw may occur depending on the operation conditions (critical = =l = -

speed). In this case, reduce the speed setting on the program © 4kg| 503 78| 165 4kg| 134 63| 496 Controller |Operation method

by referring to the maximum speeds shown in the table below. - - T > | N
Note 3. Per 1cf (0.1um base), when suction blower is used. b 8kg| 332 37 79 ] 6kg 76 35| 377 2'2 /O point trace /

<[ okg| 344] 20| 62 | ska| 47 22| 355 TS-SH Remote command
TS-SD Pulse train control

Note. Distance from center of slider upper surface to conveyor center-of-gravity at a guide service life
of 10,000 km (Service life is calculated for 600mm stroke models).

SSC05
Approx. 200 (Cable length) 178+/-2: When origin is on motor side Effective stroke (52: When origin is on motor side)
305 (178: When origin is on non-motor side) 52+/-2: When origin is on non-motor side
13 Cable securing position (Note 3) 140+/-1 (Note 1)

2-$p4H7 Depth6
4-M4 x 0.7 Depth8

14+/-1(Note 1)

o [@]d s——=~_ [ | : = ‘
¥ J
o Ay o | |
o ) ! |
N, (=]
~ —
@ =
180+/-1 (with brake) (Note 1) g5
125 218+/-2 (with brake): When origin is on motor side % 2
(218 with brake: When origin is on non-motor side) g
' 178 (with brake) [ 53
jon air o Mourling 138 70 50
2-¢6 Suction air joint direction: LJ — 34
Mounting direction: V#’\ § ;l ‘ — ‘
RJ (Note 2) i T o T =
E f L
' é@ / I % |
8 | )
Eé VN T S
24 L
(7 55 L+40 (with brake)
141.5 (with brake)
101.5 Ax50
50 B-M6 x 1 Depth8
I
¢ & o o o o t—d” o |l
[~ 0 © © A\ A\ D |
@\ G4HT (*3912 ) Depth 6 s £
Note 1. Stop positions are determined by the mechanical -] 2
stoppers at both ends. 126.5 D
Note 2. Either right or left can be selected for suction air 166.5 (with brake)
joint mounting direction. This drawing shows the RJ
Note 3. ST Ao, o band 100mm or loss Effective stroke | 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
from unit’s end face to prevent the cable from being L 280 | 330 | 380 | 430 | 480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980 [1030
subjected to excessive loads. A 3 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18
Note 4. The cable’s minimum bend radius is R30. B 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19
Note 5. These are the weights without a brake. The weights
are 0.2kg heavier when equipped with a brake. _ [ s 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 500 | 500 | 500 | 500 | 500 | 500 | 500
Note 6. When the stroke is longer than 650mm, resonance of Weight (kg) 21 123125127 1283032343638 |40]42 4414614850
the ball screw may occur depending on the operation Maxi speed|Lead 20 1000 933 | 833 | 733 | 633
conditions (critical speed). In this case, reduce the for each stroke | Lead 12 600 560 | 500 | 440 | 380
speed setting on the program by referring to the Note 6
maximum speeds shown in the table at the left. (mmisec) Lead 6 300 280 | 250 | 220 | 190

442 TS-S2 » 492 TS-SH » 492 | TS-SD » 502 |




SSCO5H | | S
T -

Lead [o Type
[20: 20mm

12: 12mm

12: 12mm_|

Slider type

Direction of air

Brake "' coupler installation| g Crigin position i _
50t0800 | [iL:1m
IB: With brake LJ: Left IZ: Non-motor side| [(50mm pitch)| [3L: 3m
BL: 5m
10L: 10m

Note 1. Only the model with a lead of 12mm or 6mm can select specifications with brake.

Note 2. If changing from the origin position at the time of purchase, the machine reference amount must be reset. For details,

refer to the manual.

Note 3. The robot cable is flexible and resists bending.

Note

4. See P.500 for DIN rail mounting bracket.

Note 5. Select this selection when using the gateway function. For details, see P.62.

Robot positioner
[52: TS-S2 Note4

$2

|

/0
INP: NPN

SH

IPN: PNP

ICC: CC-Link

IDN: DeviceNet™

EP: EtherNet/IP™

PT: PROFINET

IGW: No I/O boardts

ISH: TS-SH INP: NPN B: With battery
IPN: PNP (Absolute)
ICC: CC-Link N: None

DN: DeviceNet™

(Incremental)

Motor 42 [] Step motor g? gg‘g;:’;ﬁgr ™
Repeatability """ (mm) +/-0.02 GW: No /0 board™es
Deceleration mechanism Ball screw ¢12
Maximum motor torque (N-m) 0.47 = SD 1
Ball screw lead (mm) 20 12 6 .
Maximum speed 2| Horizontal| 1000 | 600 | 300 1/0 cable
(mmisec) Vertical| - 500 | 250 SD:TS-SD 1 1m
Maximum Horizontal 6 8 12
payload (kg) Vertical - 2 4
Max. pressing force (N) 36 60 120 A
Stroke (mm) 50 to 800 (50mm pitch)
Overall length [Horizontal Stroke+286 B 2
(mm) | Vertical Stroke+306 B c A c H
Maximum outside dimension W55 x H56 ) T - . . N T " it: N-
of body cross-section (mm) Horizontal ir on (Unit:mm) ~ Wall installation  (unit: mm)  Vertical (Unit: mm) (Unit: N-m)
: ion: A B [ A B C A Cc
Cable Ie"gt.h (m?. Standard: 1 /Opt'?«g;:?‘ 510 2kg| 599 225 291 Q| 2kg| 262| 203] 554 S| 1kg| 458] 459 my wp MR
Degree of 1ess CLASS 10 N N = 32 38 34
i i Lead 20 [ Lead 12 | Lead 6 Q| 4kg| 366] 109| 148 TZ| 4kg| 118 88| 309 | 2kg| 224| 224
Intake air (N&/min) 80 | 50 | 30 S| eka| 352 71| 104 S8 ekg| 71| 49| 262 ©| 2kg| 244| 245
Note 1. Positioning repeatability in one direction. S| 4kg| 500 118] 179 & 4kg| 146 96| 449 S| 4kg| 113] 113
Note 2. When the stroke is longer than 650mm, resonance of the ball o 6kg| 399 79 118 3§ 6k 85 55| 334
screw may occur depending on the operation conditions (critical @ 8k 403 56 88 @ 8k 55 34| 305
speed). In this case, reduce the speed setting on the program = 9 =l Controller [Operation method
by referring to the maximum speeds shown in the table below. 6kg| 573 83| 136 6k 101 62| 519 -
Note 3. Per 1cf (0.1um base), when suction blower is used. g 8kg| 480 61 100 : 8kg 64 39| 413 TS-S2 1/0 point trace /
S fokg| 442 47| 78 [ d0kg| 43| 26| 355 TS-SH Remote command
12kg| 465| 39| 64 12kg| 28| 17| 338 TS-SD Pulse train control

Note. Distance from center of slider upper surface to conveyor center-of-gravity at a guide service life
of 10,000 km (Service life is calculated for 600mm stroke models).

SSCO5H
305 Approx. 200 (Cable length) 223.5+/-2: When origin is on motor side Effective stroke 62.5 When origin is on motor side)
13 ) - (223.5: When origin is on non-motor side) 2-$4H7 Depth6 62.5+/-2: When origin is on non-motor side
Cable securing position (Note 3) 175.5+/-1 (Note 1) ‘ | 43 4-M5 x 0.8 Depth10 14.5+/-1 (Note 1)
el i ;{ : <
% —— 9 \ _
[Te) A1 i
= o
3¢ gr 4 —
it 195.5+/-1 (with brake) (Note 1) | S
Do
125 243.5+/-2 (with brake): When origin is on motor side § +
(243.5 with brake: When origin is on non-motor side) o %
214 (with brake) 2 _zg
55
o Mounting 194 90 ¢ 52
2-$6 Suction air joint direction: LJ 53 __ o] ‘ 34 ‘
Mounting direction: "7 e R— 3 < L 1|
RJ (Note2) / i i (K ® | [3 o UL
| — |—| g § g u
8 - i 2
S [ ‘ 2]
G — 8
24 L
(17) 55 L+20 (with brake)
161.5 (with brake)
141.5 Ax 50
50 B-M6 x 1 Depth8
F f @ %ﬂ
| — | o Y n/ o o o Y I“
\—AK [ = N " he e e i Ii
| L = " éﬂ
@ +0.012 %;—é @
Note 1. Stop positions are determined by the mechanical 166.5 $4H7 (g ) Depth6 D T8 2
stoppers at both ends. -
Note 2. Either right or left can be selected for the suction 186.5 (Wlth brake)
ir joint ting direction. This drawi h
the RU (standara) direction. o oM Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800
Note 3. Secure the cable with a tie-band 100mm or less L 336 | 386 | 436 | 486 | 536 | 586 | 636 | 686 | 736 | 786 | 836 | 886 | 936 | 986 [1036|1086
from unit’s end face to prevent the cable from A 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
being subjected to excessive loads.
Note 4. The cable’s minimum bend radius is R30. B 4 5 6 7 8 9 10 1 12 13 14 15 16 17 18 19
Note 5. These are the weights without a brake. The [ 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 500 | 500 | 500 | 500 | 500 | 500 | 500
3232‘5 are 0.2kg heavier when equipped with a Weight (kg) ™*® 24 126128303234 |3638[40/42 44145147149 151]53
Note 6. When the stroke is longer than 650mm, } Lead 2.0 1000 933 | 833 | 733 | 633
resonance of the ball screw may occur depending Maximum speed|Lead 12 (Horizontal) 600 560 | 500 | 440 | 380
on the Osefaﬁ&" Condigon?tﬁcfiticalspeed)- Inthis  for each stroke |Lead 12 (Vertical) 500 440 | 380
case, re a juce the spee_ setting on the progr?m It I \ Note 6 Lead 6 (Horizontal) 300 ‘ 280 ‘ 250 220 190
by ref to th ds sh th N 4
tablo gt theloft, o speecs shown in the Lead 6 (Vertical) 250 220 [ 190

TS-S2 » 492 TS-SH » 492 [ TS-SD » 502 |

443



444

e e wm -
@ 1 = D IANANA |
" ¢ = - - 1
A CEe I G N ——m
LJ: Left (Standard INone: Standard 50 to 400 1K: 1m
[RJ: Right [Z: Non-motor side | [(50mm pitch) | [3K:3.5m CN2: Twisted-pair cable 2m (pulse train function)
5K: 5m
10K: 10m
Note 1. The robot cable is flexible and resists bending. See P.596 for details on robot cable.
AC servo motor output (W) 30 A
Repeatability "' (mm) +/-0.02
Deceleration mechanism Ball screw ¢8 ¢ A B c
Ball screw lead (mm) 12 6 2 B [ A
Maximum speed (mm/sec) 720 360 120 i . i " N " o " )
anum ‘ Horizontal| 4.5 6 6 Horizontal installation (unit:mm) ~ Wall ir ion (Unit: mm)  Vertical (Unit: mm) (Unit: N-m)
payload (kg) | Vertical| 1.2 24 72 AlBJC _ Al BJC _ A | © L LI MR
Rated thrust (N) 32 64 153 E 2kg| 429 87| 179 % 2kg| 145 52| 368 % 1.2kg| 121 122 15 19 18
Stroke (mm) 50 to 400 (50mm pitch) S| 4.5kg| 219] 32| 74 3| 4.5kg| 46 0] 139 §
Overall length |Horizontal Stroke+205 S| 3kg| 511| 58/ 135 9| 3kg| 103] 22| 370 $ T 52| 54
. © © © .
SI'""_) = Vertical Stroke+240 3| eka| 336] 26/ 62 3| ekg 27| o 185 9 .
aximum outside dimension ~ ~ ~ i
i bodylcrosetsectionl(mm) W45xH55 S| kgl 1571] 58 142 5| 3kg| 109] 23] 1150 5| 3kg| 37| 39 Controller Operatlén method
Cable length (m) Standard: 3.5/ Option: 1,5,10 8| 6kg| 751 27| 66 & 6kgl 27| 0| 420 8| 7.2kg] 0 0 EU'SE 'fa'n.cof}tm' !
= o rogrammin
Degree of cleanliness ISO CLASS 3 (IS014644-1) " Note. Distance from center of slider top to center of gravity of object being carried at a guide service 110 goint trac%/
Intake air (N¢/min) “** 50 [ 30 | 15 life of 10,000 km. ERCD Remote command /
Note. Service life is calculated for 300mm stroke models. Operation
Note 1. Positioning repeatability in one direction. using RS-232C
Note 2. CLASS 10 (0.1pm) FED-STD-209D or equivalent when a communication
suction blower is used.
Note 3. The necessary intake amount varies depending on the use
conditions and environment.
C4L
Approx. 250 (Motor cable length) 132+/-3 Effective stroke 73+/-3
When origin is on motor side ‘ When origin is

on non-motor side

81+/-2 (Note 1) 44 $3H7 Depth 7 22+/-1 (Note 1)
4-M4x0.7 Depth 10 ‘
L
(__ v °uTd R )| T
: [T I ~
s i a
&
6 suction air joint 3H7 Depth 7 6 suction air joint
116+/-2 (with brakes) (Note 1)
167+/- 3 (with brakes)
110.5 (with brakes) (95)
235
18 755 | (90) ‘ =
= )
0 g . T T
— \  —
0 f—in :
3 2 T I W/ ol 5
o1r o =<
® ®
Grounding terminal (M4
@ lomina [4) L
(3: Screw head) L+35 (with brakes)
145 (with brakes)
110 S 2
$4H7 Depth 6 g
. ep ~£|| R
@ it =8 /7 [
F o[ + <+ + + o
IOROLY T T T O —
T 1 "Tl®e®@e * — — — = — — T " " PENG) :]
a = + 4 + +
@ @ ©) A-M4x0.7 Depth 6 @
90 BxC E
125 (with brakes)
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400
L 255 | 305 | 355 | 405 | 455 | 505 | 555 | 605
A 4 6 6 8 8 10 10 10
B 1 2 2 2 2 3 3 4
Cc 150 | 100 | 125 | 125 | 125 | 125 | 125 | 125
E 0 0 0 50 100 25 75 0 Note 1. St iti determined by thi hanical st t both end
ote 1. Stop positions are determined by the mechanical stoppers at both ends.
. s Nowe3 70 120 | 170 | 220 | 270 | 320 | 370 | 420 Note 2. Minimum bend radius of motor cable is R30.
Weight (kg) 1.4 1.5 1.7 1.8 2 241 2.3 2.4  Note3. Weight of models with no brake. The weight of brake-attached models is 0.2 kg heavier than the models
Maximum |Lead 12 720 with no brake shown in the table.
speed for each Lead 6 360 Note 4. Either right or left can be selected for the installation direction for the ¢ 6 intake air joint. (The left side is
stroke ea the standard.)
(mm/sec) | Lead2 120 Note 5. External view of C4LH is identical to CAL.

ERCD » 512




Direction of air

Origin position

Positioner Mot

Driver: Power-supply voltage / ju

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

See P.596 for details on robot cable.
Note 2. See P.500 for DIN rail mounting bracket.
Note 3. Select this selection when using the gateway function. For details, see P.62.

ot LCD monitor 1/0 selection -

coupler installation change i Cable length " Power capacity INP: NPN 3
LJ: Left (Standard None: Standard 3L: 3.5m 105: 100V/100W or less|  [L: With LCD PN: PNP _
RJ: Right IZ: Non-motor side B5L: 5m [205: 200V/100W or less| CC: CC-Link

10L: 10m DN: DeviceNet™

3K/5K/10K EP: EtherNet/IP™

(Flexible cable) PT: PROFINET

IGW: No I/0 board™e?

- SR1-X 05

—i
i
-

o e s Voo B VO cion Y oty
105: 100W or less INo entry: Standard| [N: NPN IB: With battery|
[E:CE marking] [P: PNP (Absolute)
ICC: CC-Link N: None
DN: DeviceNet™
PB: PROFIBUS

- RDV-X 2
Power-supply voltage

2: AC200V

05

Driver: Power capacity
05: 100W or less

AC servo motor output (W) 30 A
Repeatability "' (mm) +/-0.02
Deceleration mechanism Ball screw ¢8 ¢ A B c
Ball screw lead (mm) 12 6 2 B [ A
Maximum speed (mm/sec) 720 360 120 ) NPT " i i - o ) )
Mainum \Horizontal 45 6 6 Horizontal ir on (Unitmm) ~ Wall installation (unit:mm)  Vertical (Unit: mm) (Unit: N-m)
payload (kg) | Vertical| 1.2 2.4 72 A B JC AN/NEE O A | ¢ LY Lil? LiIR
Rated thrust (N) 32 64 153 % 2kg| 339 90| 174 E 2kg| 136 72| 295 % 1.2kg| 118 118 15 19 18
Stroke (mm) 50 to 400 (50mm pitch) 3| 45kg| 169 37 72 3| 4.5kg| 44| 20| 1M1 3
Overall length |Horizontal Stroke+205 S| 3kgl 352| 58/ 133 9| 3kg| 101| 41| 254 £ Ty -
. © © © N
slnm_) i d_Vertlg:al Stroke+240 S| ekg| 234 27| 62 8| e6kg| 27 10| 127 3§ g
aximum outside dimension ~ ~ ~ i
HBodylcross aattion] (i W45xH55 5| 3kg| 1105] 59| 142 | 3kg| 110] 41] 805 | 3kg| 38 39 Controller Operatlon_ method
Cable length (m) Standard: 3.5/ Option: 5,10 8| 6kg| 520 27/ 66 G| 6kg| 28 10| 290 3| 7.2kg 0 0 Eggga;mr‘?;rl%//
Degree of cleanliness ISO CLASS 3 (ISO14644-1)"*  Note. Distance from center of slider top to center of gravity of object being carried at a guide service 25)1(%)5?/5222 Remote command /
Intake air (N&/min) "°°? 50 [ 30 [ 15 life of 10,000 km. RCX 2407340 |Operation
Note. Service life is calculated for 300mm stroke models. using RS-232C
Note 1. Positioning repeatability in one direction. communication
Note 2. CLASS 10 (0.1um) FED-STD-209D or equivalent when a
suction blower is used. TS-X105 1/0 point trace /
Note 3. The necessary intake amount varies depending on the use TS-X205 Remote command
conditions and environment. -
RDV-X205 |Pulse train control
C4LH
Approx. 250 (Motor cable length) 132+/-3 Effective stroke 73+-3
When origin is on motor side ‘ When origin is
on non-motor side
81+/-2 (Note 1) 44 $3H7 Depth 7 22+/-1 (Note 1)
%4]/ 4-M4x0.7 Depth 10 |
L3 1 ] O | [
[ | (- ' "TH _Te| v
%L ! T L ~
=== i i
R g 8
6 suction air joint 3H7 Depth 7 6 suction air joint
116+/-2 (with brakes) (Note 1)

167+/- 3 (with brakes)

110.5 (with brakes) (95)
118 75.5 (90)
[ 1d g ‘ i ‘
0 L— = !
2 £ B3 1 &
I =
< ® ®
@ Grounding terminal (M4) L
(3: Screw head) L+35 (with brakes)

145 (with brakes)

110 S 2
$4H7 Depth 6 £
; ep! ~£€|| R
D @ o @
2. =5
F o I + + + = =+
© O T o O -
1 " Tleee ¥ o —— —— — ~ " "9 o @ :[
Fa = + 4 + +
@ @ ©) A-M4x0.7 Depth 6 ‘@
90 BxC E
125 (with brakes)
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400
L 255 | 305 | 355 | 405 | 455 | 505 | 555 | 605
A 4 6 6 8 8 10 10 10
B 1 2 2 2 2 3 3 4
C 150 | 100 | 125 | 125 | 125 | 125 | 125 | 125
E 0 0 0 50 100 25 75 0 Note 1. St iti dete ined by th hanical st t both end:
ote 1. Stop positions are determined by the mechanical stoppers at both ends.
— s Now3 70 120 | 170 | 220 | 270 | 320 | 370 | 420 Note 2. Minimum bend radius of motor cable is R30.
Weight (kg) 14 115117 1.8 2 21 | 2.3 | 2.4  Note 3. Weight of models with no brake. The weight of brake-attached models is 0.2 kg heavier than the models
Maximum |Lead 12 720 with no brake shown in the table.
speed for each Lead 6 360 Note 4. Either right or left can be selected for the installation direction for the ¢ 6 intake air joint. (The left side is
stroke ea the standard.)
(mm/sec) | Lead 2 120 Note 5. External view of C4LH is identical to C4L.

SR1-X > 518 | TS-X > 492 | RDV-X > 506 | 445




i - _ -

i H - ERCD |

I Origin position change i Il Cable length "2 | Controller - 1/0 connector specification
None: Standard 50 to 800

Direction of air
coupler installation

1K: 1m
|z: Non-motor side | |(50mm pitch) | [3K:3.5m CN2: Twisted-pair cable 2m (pulse train function)

5K: 5m

10K: 10m

Note 1. The model with a lead of 20mm cannot select specifications with brake (vertical specifications).
Note 2. The robot cable is flexible and resists bending. See P.596 for details on robot cable.

AC servo motor output (W) 30 A
Repeatability "' (mm) +/-0.02
Deceleration mechanism Ball screw ¢12 ¢ A B c
Ball screw lead (mm) 20 12 6 B [ A
Maximum speed (mm/sec) | 1000 800 400 i . i " N " o . " )
anum ‘ Horizontal 3 5 9 Horizontal installation (unit:mm) ~ Wall ir ion (Unit: mm)  Vertical (Unit: mm) (Unit: N-m)
payload (kg) | Vertical| - 1.2 24 AD |6 A BJC _ A | © oY LI MR
&| 1kg| 1584| 324| 745 &| 1kg| 679 303| 1505 £ 30 34 40
Rated thrust (N) 19 32 i 64 3 9 3 9 2| 1.2kg| 246| 245
Stroke (mm) 50 to 800 (50mm pitch) 3| 3kg| 699 104) 251 | 3kg| 215 87| 605 3§
Overall length \ Horizontal Stroke+201.5 S| 2kg| 1166] 159 406 | 2kg| 364 126 1073 &
r o© k-] ®| 2.4kg| 110, 110
(mm) | Vertical Stroke+236.5 3| skg| 551] 59| 155 8| 5kg| 123] 28] 438 §
Maximum outside dimension © © i
o bodylcrosersectionl(mm) W55xH65 S| kgl 1194] 104] 204 5| 3kg| 259| 72 354 Controller Operatlén method
Cable length (m) Standard: 3.5/ Option: 1,5,10 8| 9kg| 624 31 89 8 9kg 50 0| 154 gg(')zer;ﬁ'rgiﬁgf}tm'/
Degree of cleanliness ISO CLASS 3 (IS014644-1) "% Note. Distance from center of slider top to center of gravity of object being carried at a guide service 1/0 point trace /
Intake air (N¢/min) "** 80 [ 50 | 30 life of 10,000 km. ERCD Remote command /
Note. Service life is calculated for 600mm stroke models. Operation
Note 1. Positioning repeatability in one direction. using RS-232C
Note 2. CLASS 10 (0.1pm) FED-STD-209D or equivalent when a communication
suction blower is used.
Note 3. The necessary intake amount varies depending on the use
conditions and environment.
C5L
Approx. 250 (Motor cable length) 126+/-3 Effective stroke 75.5+/-3
When origin is on motor side ‘ When origin is on
7242 (Note 1) 55 &4H7Depth7 non-motorside | 4.5+/-1 ote 1)
F347/ 4-M4x0.7 Depth 10 %—
’@_‘—U e === rxaat — T 1 ]
e SelM] o ] { S 1
d |[eL] # ] T
oy 1 E A t D i o |
—@ B RS %a &
6 suction air joint /| ™ 4H7 Depth 7 $6 suction air joint i
107+/-2 (with brakes) (Note 1
161+/-3 (with brakes)

(101)

1 (96)
] ! | ¥
- [l [T .
] < NE mmm ﬁ I\f um?
R = i 5, |5 <
CHI ® ®
Grounding terminal (M4) ? 79 L L25] |y (Note 4) RJ (Note 4
114 (with brak
(3: Screw head) {with brakes) L+35 (with brakes)
160.5 (with brakes)
125.5 S 2
$4H7 Depth 6 ~E R
g
2 g 8
r & G G
1 @ © 4 © |
o i Y Sy == — = Wm|
pe & Y
@ B I !
i 77 ) BX200 A-M5x0.8 Depth 6 E %}i
112 (with brakes)

Note 1. Stop positions are determined by the mechanical
stoppers at both ends.

Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800  Note 2. Minimum bend radius of motor cable is R30.

L 251.5|301.5/351.5|401.5/451.5|501.5|551.5|601.5/651.5|701.5/751.5|801.5/851.5|901.5/951.5| 1001.5  Note 3. Weight of models with no brake. The weight of
A 4 4 4 6 6 6 6 8 8 8 8 10 10 10 10 12 brake-attached models is 0.2 kg heavier than the
B o fofo 1 [ 1 [ 1 [ 112122231313 [3 14 ., gt conbeseloctedlorihe
E 100 | 200 | 200 | 100 | 100 | 200 | 200 | 100 | 100 | 200 | 200 | 100 | 100 | 200 | 200 | 100 installation direction for the ¢ intake air joint.
S 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 (The left side is the standard.)
Weight (kg)"™"*° 17 | 20|22 | 25|27 | 30[3.2|34 |37 [39[42 |44 |47 |49 |51 | 54 Note5.When the stroke is longer than 600mm,
. Lead 20 1000 900 | 800 | 700 resonance of the ball screw may occur depending
MadXIfmum Speed setting - 90% | 80% | 70% on the operation conditions (critical speed).
speed for each In this case, reduce the speed setting on the
stroke "*** Lead 12 800 640 | 560 | 480 | 440 program by referring to the maximum speeds
( [sec) Lead 6 400 320 | 280 | 240 | 220 shown in the table at the left.
N " |Speed setting| - 80% | 70% | 60% | 55%  Note 6. External view of C5LH is identical to C5L.

446 ERCD > 512




Positioner "°** Il Driver: Power-supply voltage |l LCD monitorid  1/0 selection |
Lead Direction of air PPly voltag
m_ designation | coupler installation g Cable length "= Power capacity INP: NPN :
- - 105: 100V/100W or less| [L: With LCD PN: PNP
120: 20 IBL: 3.5
2 2mm | e 205: 200VA00W orless| CC:CC-Link :
¢ C DN: DeviceNet™
6: 61 10L: 101
i 3K/5K/r‘|n0K EP: EtherNet/IP™
(Flexible cable) PT. PROFINET
IGW: No I/0 board"e#
] i
- SRIX 05 -
Driver: Power capacity fd Usable for CE | 1/0 selection —
05: 100W or less No entry: Standard| [N: NPN IB: With battery|
E: CE marking |P: PNP ((Absolute)
ICC: CC-Link N: None
. . . . . DN: DeviceNet™
Note 1. The model with a lead of 20mm cannot select specifications with brake (vertical PB: PROFIBUS
specifications).
Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable. - RDV-X 2 05

See P.596 for details on robot cable.

Note 3. See P.500 for DIN rail mounting bracket. Power-supply voltage
Note 4. Select this selection when using the gateway function. For details, see P.62. 2: AC200V (05: 100W or less

[ Driver |
AC servo motor output (W) 30 A
Repeatability "' (mm) +/-0.02
Deceleration mechanism Ball screw ¢12 ¢ A B c
Ball screw lead (mm) 20 12 6 B [ A

Maximum speed (mm/sec) | 1000 800 400 . PN o . . - L . ; :
Mainum \Horizontal 3 5 9 Horizontal uA B---(Umt.cmml Wall |nsta|la:|on = (Un-tl(r:nm) Vertical . (Um::mmi = = (:;;; N-m)
payload (kg) | Vertical| - 1.2 2.4 = _
Rated thrust (N) 19 32 64 & 1kg| 1099| 324| 645 & 1kg| 602| 303| 950 % 1.2kg| 240 239 30 34 40
Stroke (mm) 50 to 800 (50mm pitch) 3| 3kg| 488 104] 241 3| 3kg| 197| 87| 432 3§
Overall length ‘Horizontal Stroke+201.5 % 2kg| 916/ 159| 398 3 2kg| 347| 141| 800 9 AT 1 1
(mm) | Vertical Stroke+236.5 B okg 436 60 152 5| skg| 119 44 355 8| = g| 109 110
Maximum outside dimension © © i
of body cross-section (mm) W55xH65 & 3kg| 1194| 105| 294 El 3kg| 259 87| 950 Controller Operatlon. method
Cable length (m) Standard: 3.5/ Option: 5,10 S| 9kg| 624 31 89 3J| 9kg| 50/ 15| 385 Eggg?mf‘?gl%//
Degree of cleanliness ISO CLASS 3 (IS014644-1)"*°*  Note. Distance from center of slider top to center of gravity of object being carried at a guide service gg;(;;?/gﬂ Remote command /
Intake air (N&/min) "**°* 80 50 30 life of 10,000 km. Operation
( ) ‘ ‘ Note. Service life is calculated for 600mm stroke models. RCX240/340 us’?ng RS-232C

Note 1. Positioning repeatability in one direction. icati
Note 2. CLASS 10 (0.1ym) FED-STD-209D or equivalent when a communication

suction blower is used. TS-X105 1/0 point trace /
Note 3. The necessary intake amount varies depending on the use TS-X205 Remote command

conditions and environment. -

RDV-X205 |Pulse train control
C5LH
Approx. 250 (Motor cable length) 126+/-3 Effective stroke 75.5+/-3
When origin is on motor side ‘ When origin is on
72+/-2 (Note 1) 55 $4H7 Depth 7 nor-motor side |24 5+4/-1 (Note 1)

34 4-M4x0.7 Depth 10 %—
1 e L
T (0 g 1 SaZadl ] T T 11
P el T =
777 T T2 e -
d &l @
W i ESEne ;
@ = RE J I
$6 suction air joint /| I || 4H7 Depth 7 $6 suction air joint i

107+/-2 (with brakes) (Note 1)

0|
10|

161+/-3 (with brakes)
(101) 50
18 (96) 32
! Y Elz -
I R
3 %jj ¥ S | g 8 @i
[ 1= =) | |
I ® ® ® [ ®
Grounding terminal (M4 79 25
rounding terminal (M4) @ L k<24 LJ (Note 4) RJ (Note 4
114 (with brak
(3: Screw head) (wih brakes) L+35 (with brakes)
160.5 (with brakes)
125.5 S 2
©
$4H7 Depth 6 ~= R
T35
A - 8
T % % 3
 —— vevr——p __— s Ty Ol oo
| oo o) °°|
il & & Y
1% B ' 4
77 Bx200 A-M5x0.8 Depth 6 E %
112 (with brakes)

Note 1. Stop positions are determined by the mechanical
stoppers at both ends.

Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 2. Minimum bend radius of motor cable is R30.

L 251.5|301.5|351.5|401.5(451.5|501.5(551.5|601.5/651.5/701.5|751.5/801.5|851.5|901.5/951.5| 1001.5  Note 3. Weight of models with no brake. The weight of
A 4 4 4 6 6 6 6 8 8 8 8 10 10 10 10 12 brake-attached models is 0.2 kg heavier than the
models with no brake shown in the table.
B 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 Note 4. Either right or left can be selected for the
E 100 | 200 | 200 | 100 | 100 | 200 | 200 | 100 | 100 | 200 | 200 | 100 | 100 | 200 | 200 | 100 installation direction for the ¢6 intake air joint.
S 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 (The left side is the standard.)
Weight (kg)™** 1.7 120122 125|127 3032|3437 3942|4447 |49 |51 | 5.4 Note5. When thestroke islongerthan 600mm,
Maxi Lead 20 1000 900 | 800 | 700 resonance of the ball screw may occur depending
aximum N _ ) ) ) on the operation conditions (critical speed).
speed for each Speed setting 90% | 80% | 70% In this case, reduce the speed setting on the
stroke Nowes | Lead 12 800 640 | 560 | 480 | 440 program by referring to the maximum speeds
0 cae) | L€ad 6 400 320 | 280 | 240 | 220 shown in the table at the left.
N " |Speed setting| - 80% | 70% | 60% | 55%  Note 6. External view of C5LH is identical to C5L.

SR1-X > 518 | TS-X > 492 | RDV-X > 506 | 447




448

designation

Brake Mt

Direction of air
coupler installation

B Cable length o2

Origin position
change

50t0800 | [3L:3.5m
: BK: With brake RJ: Right Z: Non-motor side| |[(50mm pitch)| [5L: 5m
10L: 10m
3K/5K/10K
(Flexible cable)

Note 1. The model with a lead of 20mm cannot select specifications with brake (vertical

specifications).

Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible cable.

See P.596 for details on robot cable.
Note 3. See P.500 for DIN rail mounting bracket.

Note 4. Select this selection when using the gateway function. For details, see P.62.

- SR1-X

- RDV:X

Power-supply voltage
2: AC200V

iy

el

' 3
Driver: Power-supply voltage / —_ Battery
Power capacity No entry: None| [NP: NPN
105: 100V/100W or less| [L: With LCD | [PN: PNP Absolute
ICC: CC-Link
DN: DeviceNet™ Incremental)
EP: EtherNet/IP™
PT: PROFINET
IGW: No I/0 boarde¢

05

2

105: 100W or less INo entry: Standard|  |N: NPN IB: With battery|
|E:CE marking [P: PNP (Absolute)
ICC: CC-Link N: None
DN: DeviceNet™
PB: PROFIBUS

05 RBR1
Driver: Power capacity —

05: 100W or less

AC servo motor output (W) 60 A
Repeatability "' (mm) +/-0.02
Deceleration mechanism Ball screw ¢12 ¢ A B c
Ball screw lead (mm) 20 12 6 B [ A
Maximum speed (mm/sec) | 1000 800 400 i . i i ) o
anum ‘ Horizontal 10 12 30 Horizontal installation unitmm) ~ Wall installation (Unit: mm)  Vertical (Unit: mm) (Unit: N-m)
payload (kg) \ Vertical - 4 8 A E e & E © 2 © MY MP MR
Rated thrust (N) 51 85 170 Q| 2kg| 433] 192| 295 g| 2kg| 300 174| 365 | 1kg| 353 351 35 40 50
Stroke (mm) 50 to 800 (50mm pitch) E 6kg| 145 59| 104 E 6kg| 83| 44| 105 Bl 2kg 163| 164
Overall length \ Horizontal Stroke+247.5 -| 10kg| 110, 33| 75 4| 10kg| 43 18] 71 —'| 4kg] 68 70
(mm) Vertical Stroke+282.5 | 3kg| 622] 125 336 | 3kg| 291 96| 317 | 2kg| 169 170
Maximum outside dimension T| 8kg| 271 41| 121 T| 8k 87] 13| 110 ®| 4k 71 73 i
of body cross-section (mm W65%xH65 8 9 s 9 § g Controller |Operation method
Cable length (m) Standard: 3.5/ Option: 5, 10 —| 12ke| 214] 24| 76 | 12kg| 41| 0 126 8kgl 21] 24 Programming /
Degree of cleanliness ISO CLASS 3 (IS014644-1) "2 ©| Ska| 692) 73| 236 w| Skg| 202 45| 237 SR1-X05 | IO point frace /
g S 1okg| 372] 33| 109 3| 1okg] 70| 5 o7 RCX221/222 | Remote command /
Intake air (N&/min) "*°° 80 [ 50 | 30 b 9 b 9 R 5a/5a5 |Operation
— — - -l 30kg| 157 0l 25 -| 30kg 0 0 0 using RS-232C
Note 1. Positioning repeatability in one direction. communication
Note 2. CLASS 10 (0.1ym) FED-STD-209D or equivalent when a Note. Distance from center of slider top to center of gravity of object being carried at a guide service
suction blower is used. life of 10,000 km. TS-X105 1/0 point trace /
Note 3. The necessary intake amount varies depending on the use Note. Service life is calculated for 600mm stroke models. TS-X205 Remote command
conditions and environment. -
RDV-X205-RBR1| Pulse train control

C6L

Approx. 250 (Motor cable length

158+/-3

Effective stroke

89.5+/-3

104+/-2 (Note 1)

When origin is on motor side ‘
55

$4HT Depth 7

4-M4x0.7 Depth 10

When origin is on
non-motor side

35.5+/-1 (Note 1)

i - T .
I L i — (N 1 w0
JT 1 L ‘{E ©
K- S Y
RS &|
$6 suction air joint L
4H7 Depth7
193+/-3(with brakes)
133.5(with brakes) (101) 50
118 9.5 | (96) 33 32
| \ et R Y
T [ m
T X703 A Q| 8 .
L —N’n i = h = !
® ® 8 I )
) Grounding terminal (M4) L LJ (Note 4) RJ (Note 4)
(3: Screw head) L+35 (with brakes)
193 (with brakes)
158 S 2
¢$4H7 Depth 6 ~<
Iz R
o 7=
- ) 1 = - + + il
e — & o o
B = .
te—ary ©
'@ ) & + - +
A % 40 A-M5x0.8 Depth 6 %
106.5 Bx200 E
141.5 (with brakes)
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 N - .
ote 1. Stop positions are determined by the mechanical
L 297.5|347.5|397.5|447.5|497.5|547.5|597.5|647.5|697.5747.5|797.5|847.5|897.5|947.5|997.5|1047.5 stoppers at both ends.
A 10 10 10 12 12 12 12 14 14 14 14 16 16 16 16 18  Note 2. Minimum bend radius of motor cable is R30.
Note 3. Weight of models with no brake. The weight of
B 0 0 0 1 1 1 1 2 2 2 2 3 3 3 3 4 brake-attached models is 0.2 kg heavier than the
E 150 | 200 | 200 | 100 | 100 | 200 | 200 | 100 | 100 | 200 | 200 | 100 | 100 | 200 | 200 | 100 models with no brake shown in the table.
S 50 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note 4. Either right or left can be selected for the
Weight (kg)""** 26 29|31 |34|37]40]43]46|49|52|54][57]6.0]6.3]66] 6.8 '(”Tsr::'I':gos”‘dfg’i‘;ﬁ‘h“;“;‘f;ﬁ;d¢)e intake alr joint.
Maxi Lead 20 1000 900 | 800 | 700 Note 5. When the stroke is longer than 600mm,
aximum Speed setting| - 90% | 80% | 70% resonance of the ball screw may occur depending
sz:re:kf:';‘sggh Lead 12 800 680 | 600 | 520 | 480 on the operation conditions (critical speed).
In this case, reduce the speed setting on the
: I ) Lead 6 400 340 | 300 | 260 | 240 program by referring to the maximum speeds
Speed setting| - 85% | 75% | 65% | 60% shown in the table at the left.

SR1-X » 518 [ TS-X » 492 [ RDV-X » 506 |




- — =
Driver: Power-supply voltage / il .
ke Nete Option _ Power capacity 1/0 selection
oy " \3. [TS-X 105: 100V/100W or less| [No er_wtry: None| [NP:NPN
gg:i"on gt grf]m [205: 200V/100W or less| | With LCD | |PN: PNP
change 10L: 10m CC: CC-Link
3K/5K/10K DN: DeviceNet™ |
(Flexible cable) EP: EtherNet/IP™
PT: PROFINET
IGW: No I/0 board "¢
Driver: Power capacity fg Usable for CE -—-—
I05: 100W or less INo entry: Standard|  |N: NPN IB: With battery|
|E:CE marking [P: PNP (Absolute)
ICC: CC-Link N: None
Note 1. The model with a lead of 20mm cannot select specifications with brake (vertical DN: DeviceNet™
specifications). PB: PROFIBUS
Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible _
cable. See P.596 for details on robot cable. RDV'X 2 05 RBR1
Note 3. See P.500 for DIN rail mounting bracket. . . -
Note 4. Select this selection when using the gateway function. For details, see P.62. 2: AC200V 105: 100W or less
AC servo motor output (W) 100 A
Repeatability "' (mm) +/-0.02
Deceleration mechanism Ball screw c A c
Ball screw lead (mm) 20 12 6 B [ A
Maximum speed "*°* (mm/sec)| 1000 720 360 . o - . . N o N ]
Maximum \Horizontal 12 20 20 Horizontal ir on (Unitmm) ~ Wall installation (unit:mm)  Vertical (Unit: mm) (Unit: N-m)
payload (kg) | Vertical| - 4 8 A B | ¢ A DB |G AN G LY L1 LiIR
Rated thrust (N) 84 141 283 < 5kg| 245 85| 146 < 5kg| 121 71 211 o 1kg| 440| 442 70 95 110
Stroke (mm) 150 to 800 (50mm pitch) | 10kg| 131 39 69 [ 10kg| 42| 24| 88 T| 2kg| 207| 209
- L3 o
Overall length \Horlzontal Stroke+320 | 12kg| 115 31 57 4| 12kg 29 16 66 § 3kg| 130, 132
slnm) e Vertical Stroke+355 | Sko| 364] 92| 192 | 5kg| 164 78 328 4kg| 91| 92
aximum outside dimension & & R
HBodylcross aattion] (i W80 x H75 S| 10kg| 207| 43| 92 T| 10kg| 62 29 158 «, 2kg| 237| 238 _Controller Operatlon_ method
Cable length (m) Standard: 3.5/Option: 5,10 &| 15kg| 144] 26| 41 &) 15kg) 26| 12 83 | 4kg| 106 96 f/’g)ogfan;rpmg //
©
Degree of cleanliness CLASS 10™*° 20kg| 12| 18] 40 20kg] 7| 4] 32 8| ekg] 62 62 SRI-X05 o POtTeCe 4/
5 = Note 4 RCX221/222 ;
Intake air (N&/min) 30t0 90 10kg| 406 47| 124 10kg| 87| 33| 353 8kg| 34| 40 REX240/340 Opera’ggnzszc
Note 1. Positioning repeatability in one direction. 3 20kg| 225 20 54 : 20kg 18 6| 127 gglr?]?nuni;;ation
Note 2. When the stroke is longer than 600mm, resonance of the ball 3 @
screw may occur depending on the operation conditions (critical  §| 30kg| 162 1" 31 3| 30kg 0 0 0 TS-X105 1/O point t /
speed). In this case, reduce the speed setting on the program _ pointtrace
by refefrring to the maximum speeds shown in the table below. 40kg 168 7 20 40kg 0 0 0 TS-X205 Remote command
Ng{: i -ﬁ—’ﬁ; Lceégélgpy?ﬁtsaek)éVg:qeonuf#?,g?iggEg)eerr:giﬁgefﬁ the use Note. Distance from center of slider top to center of gravity of object being carried at a guide service RDV-X205-RBR1 | Pulse train control

conditions and environment.

C8

Approx. 235 (Motor cable length)

life of 10,000 km.

203+/-3: When origin is on motor side

Effective stroke

(117): When origin is on motor side

Approx.

(203): When origin is on non-motor side 70 117+/-3: When origin is on ‘non-motor side
117+/-1 (Note 1) 50 31+/-1 (Note 1)
- |
= ——alee 5 - T L . e
S i 1
.3 L I I ‘ I
o S| o :‘n -4 I S - ' —_—— ' —
® gj‘ N —— 0
SE| e h =T T
4-M6 x 1.0 Depth10 ‘

. 200 (Motor cable length)

152+/-1 (With brake) (Note 1)
238+/-3 (With brake): When origin is on motor side ‘

(238): When origin is on non-motor side

2-§5H7 Depth0

L + 35 (With brake)

74 $10 Air join (27) . L
E 55 160
I ] =
15| 83
3 4058 <
3 > 22 g
»
Grounding terminal (M4)
) 188 (With brake)
153 50 Ax100 B 50 (67)
5 ‘ C-M5 x 0.8 Depth10 100
1.5 2 -
‘h E-3 4 K3 E3 4 3 &
— e % e
<0 ! 2
S| | — R 4 R 4 4 R o
Note Recommended plate nut: i 3
ecomende ‘ s $10H7 Plate thickness 8 5 ) £
E: Detail of T-groove | 178 (With brake) f'o_: g
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 Note . S“:E po;itions are determined by the mechanical stoppers at
oth ends.
L 470 | 520 | 570 | 620 | 670 | 720 | 770 | 820 | 870 | 920 | 970 | 1020|1070 | 1120 Note 2. Minimum bend radius of motor cable is R50.
A 0 1 1 2 2 3 3 4 4 5 5 6 6 7 Note 3. Weight of models with no brake. The weight of brake-attached
B 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 models is 0.3 kg heavier than the models with no brake shown in
the table.
c 8 10 10 12 12 14 14 16 16 18 18 20 20 22 Note 4. When the stroke is longer than 600mm, resonance of the ball
D 280 | 330 | 380 | 430 | 480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 screw may occur depending on the operation conditions (critical
N Note 3 speed). In this case, reduce the speed setting on the program by
Weight (kg) 3.6 3.9 41 4.4 4.7 5.0 5.3 5.6 5.9 | 62 | 64 6.7 7.0 7.3 referring to the maximum speeds shown in the table at the left.
‘ Lead 20 1000 950 | 800 | 700 | 650
Maximum [Speed setting| — 95% | 80% | 70% | 65%
speed"***| Lead 12 720 648 | 540 | 468 | 432 | 360
(mmisec) | Lead6 360 324 | 270 | 234 | 216 | 180
Speed setting| — 90% | 75% | 65% | 60% | 50%

SR1-X > 518 [ TS-X » 492 [ RDV-X > 506 |

449



T |7 TSK | T

. Note 2 [l Driver: Power-supply voltage / PP — " -
Brake Option - Ien%iﬁl’i‘“ Power capacity LCD monitor 1/0 selection
lo entry: Withno brake| |Origin  [None: Standard BL: 3.5m LD \132 ;%gx/qggvvy orlless nN.o eniry: None gz gzg
BK: With brake | |position i 5L: 5m - oress) L CC: CO-Link
lchange |motor side 10L: 10m IDN: DeviceNet™

(Pt cae EP. EtherNeu P
PT: PROFINET

GW: No /O board "3
SR1'X 05 1 | |_E E

- -
' '

Driver: Power capacity i Usable for CE [d 1/0 selection —

05: 100W or less No entry: Standard|  {N: NPN IB: With battery|

|E: CE marking [P: PNP (Absolute)
ICC: CC-Link IN: None
IDN: DeviceNet™
PB: PROFIBUS
Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible | _
cable. See P.596 for details on robot cable. RDV'X 2 05 RBR1

Note 2. See P.500 for DIN rail mounting bracket. ) . Power-supply voltage [l Driver: Power capacity Jl Regenerative unit |
Note 3. Select this selection when using the gateway function. For details, see P.62. 2: AC200V 05: 100W o less

AC servo motor output (W) 100 A
Repeatability "' (mm) +/-0.01
Deceleration mechanism Ball screw ¢ A B c
Ball screw lead (mm) 20 10 5 B [ A
Maximum speed "*°* (mm/sec)| 1000 600 300 . . . N . i - o o ]
Mo ‘ Horizontal 20 20 50 Horizontal installation unitmm) ~ Wall installation (Unit: mm)  Vertical (Unit: mm) (Unit: N-m)
payload (kg) | Vertical| 4 8 16 ALE |G ALD |G § AN G Ll LI LR
Rated thrust (N) 84 169 339 ol 5kg| 259 122) 179 _| 5kg| 147| 100] 220 E 2kg| 255| 260 70 95 110
Stroke (mm) 150 to 1050 (50mm pitch) % 10kg| 149 55 89 E 10kg 53 32 97 | 4kgl 111 115
Overall length \ Horizontal Stroke+325 2 15kg| 100 33| 56 3 15kg 17 10, 39 _| 2kg| 300] 302
(mm) \ Vertical Stroke+360 20kgl 95| 22| M4 20kg 0 0 0 S| 4kg 131] 133
Maximum outside dimension 10kg| 251 61| 130 10kg 87 41 197 6kg 75 77 Controll 0 ti thod
- W80 x H75 = S ontroller | Operation metho!
of body cross-section (mm) : S| 20kg| 127] 25| 55 T 20kg| 10| 4] 37 | ske| 47| 49 Programming /
Cable length (m) Standard: 3.5/ Option: 5,10 3 L gra 9
- Note 3 o| 30kg| 90 14 31 o 30kg 0 0 0 5kg| 113] 114 gR1-X05 1/O point trace /
Degree of cleanliness CLASS 10 ] ] © Remote command /
Intake air (N¢/min) 30 to 90 ¢! 40kg| 69 8 18 40kg 0 0 0 o| 10kg| 37| 38 Egi%%gig Operation
Note 1. Positioning repeatability in one direction 20kg| 256 29 76 20kg 24 9 152 3 15kg 12 12 using RS-_23-20
Note 2. When the stroke is longer than 700mm, resonance of the ball % 30kg| 188 16 43 l-‘.; 30kg 0 0 0 16kg 9 9 communication
screw may occur depending on the operation conditions (critical .
speed). Inythis case,preducg the speepd setting on the pro(gram 3 40kg 96 10 28 3 40kg 0 0 0 & 110 point trace /
by referring to the maximum speeds shown in the table below. 50kg 33 6 18 50kg 0 0 0 TS-X205 Remote command
Note 3. Per 1cf (0.1um base), when suction blower is used. -
Note 4. The necessary intake amount varies depending on the use Note. Distance from center of slider top to center of gravity of object being carried at a guide service RDV-X205-RBR1 | Pulse train control
conditions and environment. Jife of 10,000 km.
c8L
Approx. 235 (Motor cable length) 213+/-3: When origin is on motor side Effective stroke (112): When origin is on motor side
(213): When origin is on non-motor side| 79 112+/-3: When origin is on non-motor side
128+/-1 (Note 1) 50 27+
(Note 1)
- |
e 3 T T e
o| = §§<’\T‘ 4 ¢ i 3 ‘ 31
788 e ] il | i
163+/-1 (With brake) (Note 1) 4-M6 x 1.0 Depth10 ‘
Approx. 200 (Motor cable length) _| 248+-3 (With brake): When origin is on motor side‘ 2-¢5H7 Depth10
(248): When origin is on non-motor side
) L + 35 (With brake)
74 $10 Air join (27). L
55 160
N
— e \ as os B
. sl |88
* G 228 Tw
2 Q% Tl53 g8
D
Grounding terminal (M4
rounding terminal (M4) 198 (With brake)
163 50 Ax 100 B 50 (62)
‘ C-M5 x 0.8 Depth10 100
N
15 2 ‘h 3 E3 E3 E3 E3 E3 &
g e ———— e — =
i Py
39 — 2 & 4 & & 4 g
Note Recommended plate nut: : S
M3 (L16°1.6) ‘ 153 $10H7 Plate thickness 8 D 2 - ﬁ
E: Detail of T-groove 188 (With brake) ES g
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 . 1. Stop positions are determined by
L 475 | 525 | 575 | 625 | 675 | 725 | 775 | 825 | 875 | 925 | 975 |1025]|1075| 1125|1175 |1225|1275| 1325|1375 ﬁhedmechanical stoppers at both
ends.
A 0 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 Note 2. Minim_um bend radius of motor
B 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 cable is R50. )
Note 3. Weight of models with no brake.
[ 8 10 |10 | 12 | 12 | 14 | 14 | 16 | 16 | 18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 | 26 The weight of brake-attached
models is 0.3 kg heavier than the
D 280 | 330 | 380 | 430 | 480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980 |1030|1080| 1130|1180 models with no brake shown in
Weight (kg)"**°* 39 42|45 |48 |51 54|57 /60|64[67|70|73|76|79|82|85)|88|92]95 Note 4 Wﬁta’il:- oke is | "
[ Lead 20 1000 900 | 800 | 700 | 650 | 600 | 550 | 500 - 700mm. rosomanoe of he ball
. i _ screw may occur depending on
Maximum (Speed setting 90% | 80% | 70% | 65% | 60% | 55% | 50% the operation conditions (critical
speed Nete4 ) | ead 10 600 510 | 450 | 390 | 360 | 330 | 300 | 270 | 240 speed). In this case, reduce the
(mmisec) [ead 5 300 255 | 225 | 195 | 180 | 165 | 150 | 135 | 120 o A
Speed setting| — 85% | 75% | 65% | 60% | 55% | 50% | 45% | 40% shown in the table at the left.

450 SR1-X» 518 [ TS-X » 492 [ RDV-X > 506 |




Option

None: Standard|
t

on:
Z: Non-motor

_ Cable
length Nete

BL: 3.5m

5L: 5m

10L: 10m

[BK/5K/10K
(Flexible cable)

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed

to flexible cable. See P.596 for details on robot cable.
Note 2. See P.500 for DIN rail mounting bracket.
Note 3. Select this selection when using the gateway function. For details,

see P.62.

TSX |

Driver: Power-supply voltage /

Positioner o2
[TS-X

SR1-X
Driver: Power capacity
05: 100W or less

Power capacity LCD monitor 1/0 selection
105: 100V/100W or less| P: NPN
[205: 200V/100W or less|  |L: With LCD PN: PNP
CC: CC-Link
DN: DeviceNet™
EP: EtherNet/IP™
PT. PROFINET
IGW: No /O board™e?
i | i i
05 . ._| |_. 1
: 1 LR '
No entry: Standard|  |N: NPN IB: With battery|
[E: CE marking| [P: PNP |(Absolute)
ICC: CC-Link N: None
DN: DeviceNet™
PB: PROFIBUS

RDV-X 2

05

BR1

Power-supply voltage Driver: Power capacity [ Regenerative unit
2: AC200V 05: 100W or less

AC servo motor output (W) 100 A

Repeatability "' (mm) +/-0.01

Deceleration mechanism Ball screw c A B

Ball screw lead (mm) 20 10 5 B [

Maximum speed “*°? (mm/sec)| 1000 600 300 . o . .

Maximum — " Horizontal ir on (Unitmm) ~ Wall installation (Unit: mm)

payload (kg) orizonta 30 60 80 A B c A B c

Rated thrust (N) 84 169 339 Q| 10kg| 687| 274| 200 g| 10kg| 163 225 617

Stroke (mm) 150 to 1050 (50mm pitch) o| 20kg| 401] 125 92 3| 20kg 56 76| 302

Overallllength(mm) "~ Stroke+389 S[30kg| 338] 76| 57 3 30kg] 20 27] 182

Maximum outside dimension W80 x H75

of body cross-section (mm) ©| 20kg| 622| 137| 111 2| 20kg 74/ 90| 517

Cable length (m) Standard: 3.5/ Option: 5, 10 3| 40kg| 472 57 47 Q| 40kg 8 11| 196

Degree of cleanliness CLASS 10N’:"‘j3 5[ eokg| 375] 30| 25 3| eokg| — _ _

Intakelaiki(NEfmin) 301090 20kg| 1087| 148] 127 | 20kg| 89| 104 974

Note 1. Positioning repeatability in one direction. Lo w

Note 2. When the stroke is longer than 650mm, resonance of the ball % 40kg) 844 63 54 E 40kg 15 18| 505
screw may occur depending on the operation conditions (critical 4| 60kg| 707| 34| 29 9| 60kg| - - -
speed). I‘n this case, re_duce the speed seitiqg on the program 80kg| 594 20 17 80kg| — _ _
by referring to the maximum speeds shown in the table below.

Note 3. Per 1cf (0.1um base), when suction blower is used. Note

Note 4. The necessary intake amount varies depending on the use

conditions and environment.

life of 10,000 km.

. Distance from center of slider top to center of gravity of object being carried at a guide service

(Unit: N-m)
My MP MR
128 163 143
Controller |Operation method
Programming /
SR1-X05 go po{nt trace / "
RCX221/222 |SEMOte comman
RCX240/340 | OPeration
using RS-232C
communication
TS-X105 _ |1/0 point trace /
TS-X205 Remote command
RDV-X205-RBR1 | Pulse train control

C8LH
Approx. 235 (Motor cable length) 245+/-3: When origin is on motor side Effective stroke 144): When origin is on motor side
(245): When origin is on non-motor side | 1gg 144+/-3: When origin is on pon-motor side
145+/-1 (Note 1) 80 44+/-1
’(7&7 (Note 1)
= 3 E3 T 1 |
% &% ﬂ‘*
382
‘58 9 ®
= | 8BS a o a3 i J o
8-M6 x 1.0 Depth10
2-p5H7 Depth10
74 $10 Air joint (27) L ‘
55 ‘ (190)
E ‘ \ ‘ | e
! 5 o9 | N Y [ 1 ] —
— 5| |8
LY 7z FISHITII=R s t
o © ~ %% %g L - i ® i P
7] N
Grounding terminal (M4) 170 Ax 100 B 100 69)
5 100 C-M5 x 0.8 Depth10
15 2
I - E:a 3 > E3 - Py
1] 8 - @ @ w
e L + + + + + + g
Note Recommended plate nut: ; 2
ferempene ‘ 0 $10H7 Plate thickness 8 : , oS
E: Detail of T-groove S8
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 1050 Note 1. Stop positions are
L 539 | 589 | 639 | 689 | 739 | 789 | 839 | 889 | 939 | 989 | 1039|1089 | 1139 | 1189 | 1239|1289 | 1339 | 1389 | 1439 determined by the
mechanical stoppers at both
A 1 1 2 2 3 3 4 4 5 5 6 6 7 7 8 8 9 9 10 ends.
B 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 | 150 | 100 Note2. m;",‘(,",‘“;”bﬁ’:.":ggg‘“s of
I .
c 8 | 8 |10 |10 |12 | 12 | 14 [ 14 | 16 [ 16 | 18 | 18 | 20 | 20 | 22 | 22 | 24 | 24 | 26 Note 3. When the stroke is longer
D 330 | 380 | 430 | 480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980 [1030|1080| 1130 | 1180|1230 than 650mm, resonance of
5 the ball screw may occur
Weight (kg) 47 | 50|53 |56|59|62|66|69|72|75]|78]|81/84]|87]|90]93]97]10.0][103 depending on the operation
‘ Lead 20 1000 — | 900 | 800 | 700 | 650 | 600 | 550 | 500 | 450 FOI‘r?i“O"S (Cfitg?al slt):ed)-
Maximum |Speed setting - — | 90% | 80% | 70% | 65% | 60% | 55% | 50% | 45% spobd setting onthe
speed"°®| Lead 10 600 510 | 450 | 390 | 360 | 330 | 300 | 270 | 240 | 210 program by refedrrina to the
maximum speeds shown in
(mm/sec) | Lead5 300 255 | 225 | 195 | 180 | 165 | 150 | 135 | 120 | 105 the table &t the oft
Speed setting - 85% | 75% | 65% | 60% | 55% | 50% | 45% | 40% | 35%

SR1-X > 518 | TS-X > 492 | RDV-X > 506 |

451




20: 20mm |  [No entry: With no brake|

10: 10mm | [BK: With brake

ichange |side "'

_ Cable
length Note2

3L: 3.5m

Driver: Power-supply voltage /
Power capacity

Positioner Mote3
[TS-X

5L: 5m

Regenerative unit

ll /0 selection

10L: 10m

3K/5K/10K
(Flexible cable)

Note 1. If selecting 5mm lead specifications then the origin point cannot be changed

to the non-motor side.

Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible

cable. See P.596 for details on robot cable.
Note 3. See P.500 for DIN rail mounting bracket.

Note 4. Select this selection when using the gateway function. For details, see P.62.

105: 100V/100W or less| No entry: None| [NP: NPN
[205: 200V100W or less| |R: With RGT | |L: With LCD | [PN: PNP
[CC: CC-Link

DN: DeviceNet™
EP: EtherNet/IP™
PT: PROFINET

IGW: No 1/O board¢

- SR1-X
Controller Driver: Power capacity
05: 100W or less

05 -

b o ] P

Usable for CE [l Regenerative unit
No entry: Standard|  |No entry: Nonel|

1/0 selection & Battery

- RDV-X 2
2: AC200V

N: NPN IB: With battery|
E: CE marking |R: WithRG1 | [P:PNP (Absolute)

ICC: CC-Link N: None

DN: DeviceNet™

PB: PROFIBUS

05 - RBR1

Driver: Power capacity fg Regenerative unit
05: 100W or less

AC servo motor output (W) 100 A

Repeatability "' (mm) +/-0.01

Deceleration mechanism Ball screw ¢ A B c

Ball screw lead (mm) 20 10 5 B [ A

Maximum speed "*°* (mm/sec)| 1000 500 250 . . . ] i i ] o ]

Maximum ‘ Horizontal 20 20 50 Horizontal ion (uni mm)  Wall installation (unit: mm)  Vertical (Unit: mm) (Unit: N-m)

payload (kg) | Vertical| 4 10 20 A| B | C A| B |C Al C my MP MR

Rated thrust (N) 84 169 339 o | 5kg 1875 530 510 g| 5kg| 496] 451) 1826 g[ 1kg| 2461) 2492 119 119 105

Stroke (mm) 150 to 1050 (50mm pitch) T | 10kg| 1079| 247| 242 T | 10kg| 218| 168| 1002 T| 2kg| 1213| 1244

Overall length ‘ Horizontal Stroke+283 3 20kg| 628 106/ 107 3 20kg 78| 27| 497 3 4kg| 585 617

(mm) _| Vertical Stroke+313 o| 15kg| 765| 156] 164 o| 10kg| 230 170[ 1036 o=| 4kg| 627| 658

T ey e gmieneion W104 x H85 | 30ko| 425 62| 66 g[20kg| 80 29| 506 §| ko| 280 312 _Controller gperatior) m/ethod

Cable length (m) Standard: 3.5/ Option: 5,10 = | 40kg| 350| 38 42 -|30kgl 30| 0] 311 | 10kg| 210] 242 gpqyos%e |0 pontirace/

Degree of cleanliness CLASS 10 "*® | 30kg| 960 63| 68 .| 10kg| 234 170| 2716 | 10kg| 213| 244 RCX221/222 gemottg Com‘manF({’S/

Intake air (N¢/min 30t0 90 "t g IS 3 RCX240/340 |Operation using RS-

Note 1. Positif)ning repiatability in one direction. E kgl 505 % 2 E e i 29, 1208 § 15kg| 119 191 Note 252C gommunication

Note 2. When the stroke is longer than 750mm, resonance of the ball 60kg| 470 16 7 30kg 31 AL 20kg 72| 104 TS-X105 NoTo /O point trace /
screw may occur depending on the operation conditions (critical  Note. Distance from center of slider top to center of gravity of object being carried at a guide service TS-X205 Remote Qommand
speed). In this case, reduce the speed setting on the program Jife of 10,000 km. RDV-X205-RBR1 | Pulse train control

by referring to the maximum speeds shown in the table below.

Note 3. Per 1cf (0.1ym base), when suction blower is used.
Note 4. The necessary intake amount varies depending on the use
conditions and environment.

Note. Regenerative unit is required
when the models used vertically
and with 700mm or larger stroke.

C10
165+/-3: When origin is
Approx. 250 (Motor cable length on motor side Effective stroke 118): When origin is on motor side
(165): When ongig ison 118+/-3: When origin is on non-motor side
non-motor side
33)| 80+-1 160
1 (Note 1) 70 33+/-1 (Note 1)
ir joint
$12 air join m
|
% = ® 3 [ < o] ®
‘[B:l:} = ® ®
7* 28w
§§ ® ®
=== ® e e g Te ¢ o] ©
110+/-1 (With brake) (Note 1) 4-M5 x 0.8 Depth of screw 12
104 195+/-3; (With brake) 0012
98 (Approx. 250) When origin is on motor side 2-5H7(_0_) Depth10
88 (234): When origin is on
68 non-motor side
® ®
0 <t B 0| e
7% e F@é ®y 8 1 HIQé & Y & 8
St h. 48]
33
"vj 20 winbrake) | 2 L |
Grounding terminal (The same position on the opposite surface at 2 locations)
165 M x 200 A
‘ \ 200 L ‘
L 1
+ + + +
8
:3 _Ii Y s s s
‘ 195 (With brake) T N-M5 x 0.8 Depth of screw 10
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 [ 700 | 750 | 800 | 850 [ 900 | 950 [1000[1050 Note 1. Stop positions are determined by the
L 433 | 483 | 533 | 583 | 633 | 683 | 733 | 783 | 833 | 883 | 933 | 983 |1033|1083/1133|1183|1233/1283[1333 mechanical stoppers at both ends.
A 200 | 50 | 100 [ 150 [200 | 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 N°192~gggmumbe"dfad'usofmmwcab'e's
M 0 1 1 1 1 2 2 2 2 3 3 3 3|1 41 4 4 4 5 5 - )
N 4 6 |66 68|88 |8 [10]10]10] 10|12 |12 [ 12 | 12 | 14 | 14 No'e3 Weightofmodels with no brake. The
Weight (kg)"** |44 |50 |55 |61 67| 73|78 849096 [101[10.7]11.3]11.9]12.4[13.0[13.6{14.2[14.7 kg hoavier than the models with no braks
Maximum |_Lead 20 1000 950 [ 950 | 750 | 750 | 600 | 600 | 500 shown in the table.
Note4 | Lead 10 500 475 | 475 | 375 | 375 | 300 | 300 | 250
spee,d Lead 5 250 237 | 237 | 187 [ 187 | 150 | 150 | 125
(mm/sec) [speed setting - 95%] 95% | 75% | 75% |60% | 60% | 50%

Note 4. When the stroke is longer than 750mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the

maximum speeds shown in the table at the left.

452

SR1-X» 518 [ TS-X » 492 [ RDV-X > 506 |




Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible

Option

R S S
=

BL: 3.5m

I5L: 5m

Origin  [None: Standard
position (Z: Non-
ichange |motor side

cable. See P.596 for details on robot cable.
Note 2. See P.500 for DIN rail mounting bracket.

Note 3. Select this selection when using the gateway function. For details, see P.62.

10L: 10m
BK/5K /10K
Flexible cable;

SR1-X

Controller Driver: Power capacity fl Usable for CE [l Regenerative unit
105: 100W or less INo entry: Standard| [No entry: None|
E: CE marking| |R: With RG1

- RDVX
m Power-supply voltage Driver: Power capacity -
2: AC200V. 105: 100W or less

ll /0 selection

105: 100V/100W or less| INP: NPN
[205:200V/100W orless| [R:With RGT | [L:With LCD | [PN:PNP
CC: CC-Link

DN: DeviceNet™

EP: EtherNet/IP™
PT. PROFINET

IGW: No /O board?

05

N o I s

- 1/0 selection Bl Battery

2

05

IN: NPN IB: With battery|
P: PNP (Absolute)
ICC: CC-Link N: None
IDN: DeviceNet™

PB: PROFIBUS

RBR1

AC servo motor output (W) 100 A

Repeatability "' (mm) +/-0.01

Deceleration mechanism Ball screw c A B c

Ball screw lead (mm) 20 10 5 B [ A

Maximum speed "*** (mm/sec) | 1000 500 250 . o ] . . ] o ]

Maximum ‘ Horizontal 30 55 80 Horizontal ir on (Unitmm) ~ Wall installation (unit:mm)  Vertical (Unit: mm) (Unit: N-m)

payload (kg) | Vertical| 4 10 20 A| B |C A | B |C Al C My mMP MR

Rated thrust (N) 84 169 339 9| 5kg| 2127 1384] 968 g| 5kg 1047] 968] 1553 g 1kg| 600] 600 232 233 204

Stroke (mm) 150 to 1050 (50mm pitch) B| 15kg| 1177| 459| 425 TZ| 15kg| 387| 264 748 Z 2kg| 1200/ 1200

Overall length |Horizontal Stroke+285 3| 3o0kg| 1247| 242| 201 S| 30kg| 206] 97| 633 S| 4kg| 1141| 885

(mm) _|Vertical Stroke+315 o| 20kg| 1120] 349| 353 o| 20kg| 299| 180| 658 2| 4kg| 1216] 943

(’f'fa;‘;,’g;’g‘rg;‘;s;‘;ecggf“?:i‘)’“ W136 x H96 §| 40kg| 857 179] 215 | 40kg| 127| 49| 363 F| kgl 621 482 Controller gperaliohm/ethod

Cable length (m) Standard: 3.5/ Option: 5,10 =| 55kg| 932] 138] 182 | s5kg| 79| 16| 296 | 10kg| 503 390 grqx.05" |G point trace /

Degree of cleanliness CLASS 10 "°° w| 50kg| 2017| 250/ 335 w| 50kg| 233| 103| 1033 | 10kg| 574| 445 RCX221/222 |Remote command/

Intake air (N&/min) 3010 90 ™°* B[ ookg| 1477| 134| 192 F| eokg| 75| 13| 433 §| 15kg| 370| 287 RCX240/340 |Operation using RS-

itioni ility i i i - - - ole -

Noe 5 postioning rspoatany mone droction  ___ yipg ooy —I_20ka| 1452] 106 157 | soko] 35 0| 24z | 20kg| 266 208 TSX105™ 1 pointrace/
screw may occur depending on the operation conditions (critical Note. Distance from center of slider top to center of gravity of object being carried at a guide service TS-X205 Remote command
speed). In this case, reduce the speed setting on the program life of 10,000 km. RDV-X205-RBR1 | Pulse train control

by referring to the maximum speeds shown in the table below.
Note 3. Per 1cf (0.1um base), when suction blower is used.
Note 4. The necessary intake amount varies depending on the use

conditions and environment.

C14

Approx. 250

165+/-3: When origin is
on motor side

Effective stroke

Note. Regenerative unit is required
when the models used vertically
and with 700mm or larger stroke.

(120): When origin is on motor side

(Motor cable length)

(165): When origin is

on non-motor side

120+/-3: When origin is on non-motor side

160 0.012
(33) 80+1 70 2-46H7(*5"?) Depth 10 354041 e 1
- ote
12 air joint (Note 1) ‘ ‘ "740‘)\ ‘ 4-M6 x 1.0 Depth of screw 12 r_,i
T T | T \ M L] R - |
e Bo & &9 @
] ¢
38
= T
;[[E 2 ® _._..bﬁﬂ.._._ S I e
L L - | o
36 110+-1 (With brake),
82 | Approx. 250 (Nete ) ‘195+/—3 (With brake): When origin is on motor side
‘ 72 ‘ (195): When origin is on non-motor side
]
| b XO) e
Z 0| 10| _
SN I
| I
I I
‘0‘ OT
S =
Grounding terminal (The same position on the opposite surface at 2 location)
30 (With brake)
165 Mx 200 A (70)
100 N-M86 x 1.0 Depth of screw 10
X
8
195 (With brake)
Effective stroke | 150 | 200 | 250 | 300 [ 350 [ 400 [ 450 | 500 | 550 | 600 | 650 | 700 [ 750 | 800 | 850 | 900 | 950 [1000[1050 Note 1. Stop positions are determined by the
L 435 | 485 | 535 | 585 | 635 | 685 | 735 | 785 | 835 | 885 | 935 | 985 [1035]1085[1135|1185(1235/1285|1335 mechanical stoppers at both ends.
A 200 | 50 | 100 | 150 [ 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 Nme?'g'sfgmumbe"dfad'USOmetOfcab'e's
] 0O [T [T [T [ 1222233334 4] 4]47]5 0. ) !
N 6 | 8 | 8 | 8| 8 | 10| 10| 10 10 | 12 | 12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 N°‘93‘rﬁet;rga“k‘e‘f;;'t‘;’f:;fj“:‘;‘d';?stj;a;jkTghﬁe";f,'ige’r“
Weight (kg) "3 9.219.9 [10.5[11.2]11.7[12.4[13.0[13.7|14.3[15.0|15.5[16.2| 16.8[ 17.5| 18.1 [ 18.8 | 19.3[20.0|20.6 than the models with no brake shown in the
Maximum |_Lead 20 1000 950 | 950 | 750 | 750 | 600 | 600 | 500 table.
speeq e | _Lead 10 500 475 | 475 | 375 | 375 | 300 | 300 | 250
P . Lead 5 250 237 | 237 | 187 | 187 | 150 | 150 | 125
(mmisec) [5heed setting] - 95% |95% | 75% | 75% |60% 60% | 50%

Note 4. When the stroke is longer than 750mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the
maximum speeds shown in the table at the left.

SR1-X > 518 [ TS-X » 492 [ RDV-X > 506 |

453




454

JO— e
= : B
f‘ E— — )
Origin BL 3 5m [TS-X 10: 100V/200W No entry: None P:NPN
bosition [Z: Non-motor 5L 5m [210: 200v7200W | |R:WithRGT | |L: With LCD Erg._ E’\(‘)PL' .
lchange side "' 10L: 10m DN: Dev-iclgNeFM
BKISK/10K - EtherNet/[P™
Flexible cable) W
IGW: No I/O board"e*
No entry: None| |N: NPN IB: With battery|
E:CE marking |[R: WithRG1 | [|P:PNP (Absolute)
Note 1. If selecting 5mm lead specifications then the origin point cannot be changed gﬁ gg\;itlgllfletw pi: None
to the non-motor side. PB: PROFIBUS
Note 2. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible
cable. See P.596 for details on robot cable. - RDV-X 2 10 - RBR1
Note 3. See P.500 for DIN rail mounting bracket. m P v volt Dri P m R m m
. N : : A 'ower-supply voltage river: Power capacity —
Note 4. Select this selection when using the gateway function. For details, see P.62. M W
AC servo motor output (W) 200 A
Repeatability "' (mm) +/-0.01
Deceleration mechanism Ball screw ¢ A B c
Ball screw lead (mm) 20 10 5 B [ A
Maximum speed “*? (mm/sec) | 1000 500 250 ) ) ) N . i - e N ]
Maximum ‘ Horizontal 40 30 100 Horizontal installation unitmm) ~ Wall installation (Unit: mm)  Vertical (Unit: mm) (Unit: N-m)
payload (kg) | Vertical| 8 20 30 A B |6 A B | G A © L LlP LiIR
Rated thrust (N) 170 341 683 Q| 10kg| 2247) 1675 958 g| 10kg| 987| 1210| 1678 | 4kg| 2400| 2008 293 294 258
Stroke (mm) 150 to 1050 (50mm pitch) B| 20kg| 1397| 855| 528 J| 20kg| 497 548 958 T| 6kg| 1687| 1358
Overall length \ Horizontal Stroke+349 3 40kg| 1037| 445| 318 3 40kg| 247| 217| 598 3 8kg| 1287| 1033
(mm) Vertical Stroke+379 o| 30kg| 1937| 583] 478 o| 30kg| 402] 328 1238 o| 10kg| 1347| 1088
Maximum outside dimension f
i bodylcrosersectionl(mm) W136 x H96 § 50kg| 1637| 364| 323 § 50kg| 227| 152| 878 § 15kg| 887 718 _Controller grpoerr::;ri\nm/ethod
Cable length (m) Standard: 3.5/ Option: 5, 10 —!| 80kg| 1717| 242] 235 | 80kg| 119| 74 678 | 20kg| 657| 538 gp4.xqgMee 1) gointtrac%/
Degree of cleanliness CLASS 10 "*°? | 60kg| 2443| 311| 313 | 60kg| 197| 108| 1308 | 20kg| 747 608 RCX221/222 |Remote command /
Intake air (N&/mi Note b s ° RCX240/340 | Operation using RS-
Nnta ePalr( 2/min) — - 30 to 90 E 80kg| 2193| 242| 250 E 80kg| 127| 53| 1008 E 25kg| 663| 484 232C communication
ote 1. Positioning repeatability in one direction. 100kg| 2000/ 202| 213 100k 85 20| 788 30k 491| 396 B Note i
Note 2. When the stroke is longer than 750mm, resonance of the ball g g g TS-x110 Note KO potlnt trace / d
screw may occur depending on the operation conditions (critical Note. Distance from center of slider top to center of gravity of object being carried at a guide service TS-X210 emote comman
speed). In this case, reduce the speed setting on the program life of 10,000 km. RDV-X210-RBR1 | Pulse train control

by referring to the maximum speeds shown in the table below.
Note 3. Per 1cf (0.1Tum base), when suction blower is used.
Note 4. The necessary intake amount varies depending on the use
conditions and environment.

C14H

Approx. 250

204+/-3: When origin is on motor side,

Effective stroke

Note. Regenerative unitis required when
used vertically.

(145): When origin is on motor side

145+/-3: When origin is on non-motor side

45+/-1 (Note 1)

Stop positions are determined by the
Minimum bend radius of motor cable is

Weight of models with no brake. The weight

of brake-attached models is 0.4 kg heavier
than the models with no brake shown in the

(Motor cable length) |(204): When origin is on non-motor side!
+0.012
(33)] 104+/-1 (Note 1) 100 2:9BH7("g” ") Depth 10
12 air joint ‘ ‘ | 70 ‘ 4-M6 x 1.0 Depth of screw 12
T T T [ AT L] —— T
- & |£H| e Pe + &9 e
&2
]
3e ® ®
T b® 9
= D I S S .
136 134+/-1 (With brake
1o (Approx. 250) (Note 1) ‘ 234+/-3 (With brake): When origin is on motor side
(234): When origin is on non-motor side
LX) ®0e
z v |
o~
| M~ |
H—eQ
e
33 Grounding terminal (The same position on the opposite surface at 2 location)
30 (With brake) L
179 M x 200 A (120)
100 N-M86 x 1.0 Depth of screw 10
=
8
209 (With brake)
Effective stroke 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050 Note 1. i h
L 499 549 | 599 | 649 | 699 | 749 | 799 | 849 | 899 | 949 | 999 |1049]1099] 11491199 1249]1299[1349[1399 ., , mechanical stoppers at both ends.
A 200 | 50 | 100|150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150 | 200 | 50 | 100 | 150|200 | 50 | 10 R50.
M 0 1 1 1 1 2 2 2 2 3 3 3 3 4 4 4 4 5 5 Note3.
N 6 8 8 8 8 10|10 |10 |10 |12 |12 | 12 | 12 | 14 | 14 | 14 | 14 | 16 | 16
Weight (kg)“*°* 10.7 [ 11.4112.0|12.7[13.2{13.9[14.5|15.2|15.8 | 16.5| 17.0 | 17.7 | 18.3]19.0 | 19.6 | 20.3|20.8 | 21.5| 221 table.
) Lead 20 1000 950 | 950 | 750 | 750 | 600 | 600 | 500
Maximum
speed ot Lead 10 500 475 | 475 | 375 | 375 | 300 | 300 | 250
(p Isec) Lead 5 250 237 | 237 | 187 | 187 | 150 | 150 | 125
Speed setting| — 95% | 95% | 75% | 75% |60% |60% | 50%

Note 4. When the stroke is longer than 750mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the

maximum speeds shown in the table at the left.

SR1-X»> 518 | TS-X > 492 | RDV-X > 506 |




lo entry: With no brake|
BK: With brake

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible

Option

cable. See P.596 for details on robot cable.
Note 2. See P.500 for DIN rail mounting bracket.

Note 3. Select this selection when using the gateway function. For details, see P.62.

Origin  [None: Standard
position {Z: Non-motor|
lchange |side

_ Cable
length Nete

3L: 3.5m

1200 to 1250

- TSX

e —

220

Driver: Power-supply voltage /
Power capacity
[220: 200V/400 to 600W

(50mm pitch) | [5L: 5m
10L: 10m
3K/5K/10K

Flexible cable

- SR1-X - -
Driver: Power capacity g Usable for CE gl Regenerative unit & 1/0 selection —
[20: 400 to 600W No entry: Standard| |No entry: None| [N: NPN 1B: With battery|

E: CE marking| |R: With RG1

- RDV-X T ]
Power-supply voltage Driver: Power capacity [ Regenerative unit
2: AC200V. |20: 400W or less IRBR1 (Horizontal

R: With RGT

Regenerative unit

b Battery

ICC: CC-Link

DN: DeviceNet™

EP: EtherNet/IP™
PT: PROFINET
IGW: No 1/O board "

20

2

20

P: PNP (Absolute)|
ICC: CC-Link N: None
DN: DeviceNet™

PB: PROFIBUS

IRBR2 (Vertical

s

AC servo motor output (W) 400 A
Repeatability "' (mm) +/-0.01
Deceleration mechanism Ball screw c A B c
Ball screw lead (mm) 20 10 B [ A
Maximum speed "*°? (mm/sec) 1000 600 . o ] . . ] o ]
Maximum \Horizontal 30 120 HonzontaluA B---(Umt.cmm) Wall |nsta|lall:|on = (Unn,gm) Vertical o (Um::mml = = (:;;N-m)
payload (kg) | Vertical 15 35
Rated thrust (N) 339 578 Q[ 30kg| 2660 871/ 1040 g| 30kg| 1017| 789) 2576 g| 5kg| 3000/ 3000 ~ 1032 1034 208
Stroke (mm) 300 to 1250 (B0mm pitch)  §20kg 1911] 508] 615 | Sokg| 583 426] 1808 g 10kg 2443] 2443
Overall length [Horizontal Stoker395 P S| sokg| 1541| 303| 377 3| 8okg| 338 221 1380 S| 15kg| 1633| 1633
("‘I’;‘;"‘ engt °\'I'z°t'_‘ al Str°ke+ e o 60kg| 2443| 418] 580 =| 60kg| 525 336| 2443 =| 15kg| 1728] 1728
Maximumoutsidedim‘:;s'foan roke o[ 100kg| 2000] 237| 330 T[100kg| 271] 155| 2000 | 25kg| 1013] 1013
3 7] @
of body cross.section (mm) W168 x H114 S[120kg| 1841] 192[ 268 [ 120kg] 207| 109 1841 S| 35kg] 707] 707

Cable length (m)

Standard: 3.5/ 0OP: 5, 10

Note. Distance from center of slider top to center of gravity of object being carried at a guide service

Degree of cleanliness

CLASS 10 M*®

life of 10,000 km.

Intake air (N¢/min)

30 to 90 "¢

Note 1. Positioning repeatability in one direction.
Note 2. When the stroke is longer than 950mm, resonance of the ball

screw may occur depending on the operation conditions (critical
speed). In this case, reduce the speed setting on the program
by referring to the maximum speeds shown in the table below.

Note 3. Per 1cf (0.17um base), when suction blower is used.
Note 4. The necessary intake amount varies depending on the use

conditions and environment.

C17

168

Approx. 250

Controller Operation method
SR1-X20 Nete Programming / I/O point trace / Remote command /
RCX221/222, RCX240/340]| Operation using RS-232C communication
TS-X220 Note 1/0 point trace / Remote command

RDV-X220-RBR1 (Horizontal
RDV-X220-RBR?2 (Vertical)

Pulse train control

242.5+/-3: When origin is on motor side

Effective stroke

Note. [The following arrangements require a regeneration unit.]
« Using in the upright position.

(152.5): When origin is on motor side

(Motor cable length)

(242.5): When origin is on non-motor side|
94

70 (Between knocks +/-0.02)

152.5+/-3: When origin is

N non-motor side

(33)[ 127.5+/-1 (Note 1) 5‘0 4-M6 x 1.0 Depth of screw 20 37.54/-1
H12air joint 4-96H7("§%"?) Depth 10 (Note 1)
4-M8 x 1.25 Depth of screw 20
*’ ¥
® " Todde ﬁ' Fgl | ®
1 =
® < ®
23
® 3 :2 ®
% s 5 g
[I:E — t ® || LA @
Lo e - ¢
136
157.5+/-1 (With brake)| 220
(Approx. 250) (Note 1) 272.5+/-3 (With brake): When origin is on motor side

</ o) @ L] z
2@ | ®eo glsy

5 7 S

® LI

(272.5): When origin is on non-motor side

8]
30 (With brake)| |

Grounding terminal (The same position on the opposite surface at 2 location)

L
N-M8 x 1.25 Depth of screw 18 43 M x 200 A (102)
) 200 \
v 5 ¢ y
%
1
\ 273 (With brake) \
Effective stroke | 200 | 250 | 300 | 350 [ 400 450500550600 | 650 | 700 | 750 | 800 | 850 [ 900 [ 950 [1000[1050[1100[1150[1200[1250 Note 1. Stop positions are determined
L 595 | 645|695 | 745 [ 795 845 | 895 | 945 | 995 [1045(1095[1145[1195|12451295(1345]1395|1445(1495(1545(1595(1645 Ev::en;echamca'stowefsai
A 50 [ 100150 200] 50 [ 100 150|200 50 | 100150 200] 50 [100] 150|200 50 | 100|150 [200] 50 [100 o1 > mimimom bend radius of motor
™M 111 ]1[2]2]2[2]3[3[3[3[4]4[4]4]5]5][5][5]6 " cable is R50.
N 8 | 8|88 |10[10[10[10[12[12[12[12 |14 [14 |14 |14 | 16 | 16 | 16 | 16 | 18 | 18 Note 3. Weight of models with no brake.
Weight (kg) ™3 [15.0[16.0[17.0[17.9/18.9/19.8]20.8[21.722.7|23.6|24.6 25.5/26.5]27.4|28.4|29.3|30.3|31.2[32.2[33.1/ 34.1[35.0 The weight of brake-attached
Maximum | Lead 20 1000 800800700700 [600] 600|500 models is 1.5 kg heavier than
speed"°* | Lead 10 500 400400 | 350 | 350 | 300 | 300 | 250 f:fh’Z‘:ggl'ZW"“ no brake shown
(mm/sec) |Speed setting| — 80%180%70% | 70% |60%|60%|50%. :

Note 4. When the stroke is longer than 950mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the
maximum speeds shown in the table at the left.

SR1-X > 518 [ TS-X » 492 [ RDV-X > 506 |

455



456

Note. Built-to-order product. Contact us for the delivery period.

C17L - 50 -

=N B3

o entry: With no brake|

BK: With brake

Note 1. The robot cable is standard cable (3L/5L/10L), but can be changed to flexible

Brake Option

(Origin  |None: Standard
position Z: Non-
Ichange |motor side

cable. See P.596 for details on robot cable.
Note 2. See P.500 for DIN rail mounting bracket.
Note 3. Acceleration / deceleration is different depending the Positioner or Controller

or Driver.

_ Cable
length Nete!

BL: 3.5m

5L: 5m

10L: 10m

[BK/5K/10K

Flexible cable;

1150 to 2050
(100mm pitch)|

Note 4. Select this selection when using the gateway function. For details, see P.62.

TSX

itioner Nete2
TS-X

Driver: Power-supply voltage /

220

Regenerative unit Jl

Power capacity Nt 2

[220: 200V/400 to 600W|  |R: With RGT

- SR1X

Controller

RDV-X

Power-supply voltage
2: AC200V

Power capacity
120: 400 to 600W

Driver:

2

-
il Usable for CE [
MRl  No entry: Standard
E: CE marking|

20

Driver: Power capacity
[20: 400W or less

LCD monitor

L: With LCD

INP: NPN
PN: PNP
ICC: CC-Link

Regenerative unit
R: With RG1

DN: DeviceNet™
EP: EtherNet/IP™
PT: PROFINET

IGW: No /O board*"¢

- B ater |

1/0 selection

Note 3 [l

N: NPN IB: With battery|
P: PNP ((Absolute)|
ICC: CC-Link N: None
DN: DeviceNet™

PB: PROFIBUS

Regenerative unit
IRBR1 (Horizontal

IRBR2 (Vertical

AC servo motor output (W) 600 A

Repeatability "' (mm) +/-0.02

Deceleration mechanism Ball screw ¢ A B c

Ball screw lead (mm) 50 B [ A

Maximum speed "**? (mm/sec) 1000 . . . N . i - o N ]

Maiinum ‘ Horizontal 50 Horizontal installation unit mm) = Wall installation (unit: mm)  Vertical (Unit: mm) (Unit: N-m)

payload (kg) | Vertical 10 ADB |G A DB |G A e Ly L1 LLIR

Rated thrust (N) 204 Q| 10kg| 4000| 2687| 3327 g| 10kg| 3436| 2605 4000 @| 2kg| 1200 1200 1032 1034 908

Stroke (mm) 1150 to 2050 (100 pitch) T| 30kg| 3045| 872| 929 Z| 30kg| 1169 790 3045 T 5kg| 3000| 3000

Overall length ‘ Horizontal Stroke+485 3 50kg| 2602| 509| 714 3 50kg| 666 427| 2602 3 10kg| 2579| 2579

glnm) tside di Vertlf:al Stroke+515 Note. Distance from center of slider top to center of gravity of object being carried at a guide service

aximum outside dimension life of 10,000 km. i

of body cross-section (mm) W168 x H114 nee " Controlley g;e::::::ir:mjth‘)d

Cable length (m) Standard: 3.5/ Option: 5, 10 SR1-X20-R |10 pont trace /

Degree of cleanliness CLASS 10 "*°? RCX221/222 |Remote command /

Intake air (N&/min) 30 to 90 ¢ RCX240/340 203;);&?;#}5[}2%&%”

Note 1. Positioning repeatability in one direction. -

Note 2. When thegstroplie is Iong):er than 1850mm, resonance of the ball TS-X220-R /0 point trace /
screw may occur depending on the operation conditions (critical Remote command
speed). In this case, reduce the speed setting on the program RDV-X220-RBR1
by referring to the maximum speeds shown in the table below. (Horizontal)

Note 3. Per 1cf (0.1um base), when suction blower is used. Pulse train control

Note 4. The necessary intake amount varies depending on the use RDV-X220-RBR2
conditions and environment. Vertical

C17L
Approx. 250 299+/-7: When origin is on motor side Effective stroke (186): When origin is on motor side
(Motor cable length) [(299): When origin is on non-motor side g 70 (Between knocks +-0.02) 186+/-7: When origin is on non-motor side
(33)]  176.5+/-2 (Note 1) 5\0 4-M6 x 1.0 Depth of screw 20
12 air joint m 4-46H7('3*"%) Depin 10 £
4-M8 x 1.25 Depth of screw 20 (Note 1)
- Rd id Rd
lﬂl ) TS ﬁ - I )
cla
o g3 Vi o
Q2
° 5|E Vi °
® | Po% T 46— Vi ®
» | T % T - L »
168 206.5+/-2 (With brake) (NotEJ 1) 220
150 (Approx. 250) | 329+/-7 (With brake): When origin is on motor side
141 (329): When origin is on non-motor side
104
e ! ® e _
<] L] L] VA ‘
S rp© | gy gl S8
O P I 8
|18 Grounding terminal (The same position on the opposite surface at 2 location)
30 (With brake) | L
299 M x 200 A 136
37 200 N-M8 x 1.25 Depth of screw 18
15825 y
0l P4 ¥
. 0|00 i P > ’ // 4 ¢
0.5 N
Z
- L . , ) )
\ 329 (With brake)
Effective stroke 1150 [1250] 1350 [ 1450 1550 [ 1650 [ 1750 [ 1850 [ 1950 ] 2050 Note ; . Stop positions are dete;mined by the mechoanical stoppers at both ends.
Note 2. Minimum bend radius of motor cable is R50.
L 1635|1735 | 1835 | 1935 | 2035 | 2135 | 2235|2335 | 2435 | 2535 Note 3. Weight of models with no brake. The weight of brake-attached models is 1.5 kg heavier than
A 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 the models with no brake shown in the table.
M 5 6 6 7 7 8 8 9 9 10 Note 4. When the stroke is longer than 1850mm, resonance of the ball screw may occur depending
on the operation conditions (critical speed). In this case, reduce the speed setting on the
- N Note3 16 18 18 20 20 22 22 24 24 26 program by referring to the maximum speeds shown in the table at the left.
Weight (kg) 39.1|41.2 43.245.2 | 47.3 | 49.3 | 51.3 | 53.4 |55.4 | 57.4
Maxi speed | Lead 50 1000 900 800
(mmisec)"***  |Speed setting — 90% 80%

SR1-X» 518 [ TS-X » 492 [ RDV-X > 506 |




m g -

20: 20mm
10: 10mm

Note 1.

select a lead of 10mm.

Note 2.

INo entry: With no brake
BK: With brake

200 to 1250 | [3L: 3.5m

Z: Non-motor| |(50mm pitch) | [5L: 5m

lside 10L: 10m
BK/5K/10K
Flexible cable)

cable. See P.596 for details on robot cable.

Note 3.
Note 4.

or Driver.
Note 5.

See P.500 for DIN rail mounting bracket.
Acceleration / deceleration is different depending the Positioner or Controller

Only the model with specifications with brake (vertical specifications) can

The robot cable is standard cable (3L/5L/10L), but can be changed to flexible

Select this selection when using the gateway function. For details, see P.62.

_ Cable
length Note2

- TSX

220

Driver: Power-supply voltage /
Power capacity Note4

[220: 200V/400 to 600W

b Battery

Regenerative unit

- SR1-X 20 -

- RDV-X
2. AC200V

R: With RGT

ICC: CC-Link
DN: DeviceNet™

EP: EtherNet/IP™

PT: PROFINET

IGW: No 1/O board "5
| H 1
' - '
: ' '

Driver: Bl Usable for CE g Regenerative unit —
Power capacity "**°* No entry: None| |N: NPN B: With battery
[20: 400 to 600W E: CE marking ‘R: WithRG1 | |P: PNP (Absolute)
ICC: CC-Link N: None
DN: DeviceNet™
PB: PROFIBUS

2 20

Driver: Power capacity
20: 400W or less

Note4 B Regenerative unit

IRBR1 (Horizontal
RBR2 (Vertical

AC servo motor output (W) 600 A
Repeatability "' (mm) +/-0.01
Deceleration mechanism Ball screw c A B c
Ball screw lead (mm) 20 10 B [ A
N Note 2
Maxn.mum speed (m.mlsec) 1000 500 Horizontal installation (unit: mm) -~ Wall installation (Uit mm)  Vertical i (Unit: mm) (Unit: N-m)
Maximum [Horizontal 120 - RRERRG ATBG AT G ™ e R
payload(kg) [ Vertical| 25 45 Q[ 50kg| 2602 869] 1145 S| 50kg| 1144] 798| 2602 &| 15kg| 2711 2711
Rated thrust (N) 510 1020 1101 1103 968
S| _80kg| 2193| 528| 720 | 80kg| 717| 456| 2193 T| 20kg| 2045 2045
Stroke (mm) 200 to 1250 (50mm pitch) © o o
= | 120kg| 1841| 339| 505 | 120kg| 466 267) 1841 | 25kg| 1647) 1647
Overall length |Horizontal Stroke+441 2| 20kg| 2182] 2182
(mm) Vertical Stroke+471 T| 30kg| 1437| 1437
Maximum outside dimension o
of body cross-section (mm) W202 x H117 —| 45kg| 939 939

Cable length (m)

Standard: 3.5/ Option: 5, 10

Degree of cleanliness

CLASS 10 M*®

life of 10,000 km.

Intake air (N¢/min)

30

to 90 Note4

Note 1. Positioning repeatability in one direction.
Note 2. When the stroke is longer than 950mm, resonance of the ball

screw may occur depending on the operation conditions (critical

speed). In this case, reduce the speed setting on the program
by referring to the maximum speeds shown in the table below.
Note 3. Per 1cf (0.17um base), when suction blower is used.
Note 4. The necessary intake amount varies depending on the use

conditions and environment.

C20

Note. Distance from center of slider top to center of gravity of object being carried at a guide service

Controller Operation method
SR1-X20 Note Programming / /O point trace / Remote command /
RCX221/222, RCX240/340| Operation using RS-232C communication
TS-X220Q Note 1/0 point trace / Remote command

RDV-X220-RBR1 (Horizontal
RDV-X220-RBR?2 (Vertical)

Pulse train control

Note. [The following arrangements require a regeneration unit.]
« Using in the upright position.

Approx. 250 281+/-3: When origin is on motor side Effective stroke (160): When origin is on motor side
(Motor cable length) |(281): When origin is on non-motor side 9‘4 4-M6 x 1.0 Depth of screw 20 160+/-3: When origin is on non-motor side
37 (33) 166+/-1 (Note 1) 70 (+40.02) 4-M8 x 1.25 Depth of screw 20 ‘?\‘5:/-11
1525 50 4-06H7("3°"2) Depth 10 (e
0| P H
| oo $12 air joint +
7ﬂ - = -
© t B oo $od g __ 'y
5 . .
Z|F
Z é%
£ ® SE )
i %% | %0 L @
-
202 . 1136
150 196+/-1 (With brake) (Note 1) [ 220
141 | (Approx. 250) 311+/-3 (With brake): When originis on motor side|
‘ V‘A’\ ‘ (311): When origin is on non-motor side
z (X ] ; (N ]
~© e @D ¢ ol =
| ol g
33 Grounding terminal (The same position on the opposite surface at 2 location)
30 (With brake)] [~ L
281 M x 200 A (110)
200 N-M8 x 1.25 Depth of screw 20
==
R m—
]
-
L 311 (With brake)
Effective stroke 200 | 250300 | 350|400 450|500 550|600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000/1050]{1100|1150/1200/1250 Note 1. Stop positions are determined
L 641|691 | 741 | 791 | 841|891 | 941|991 |1041/1091{1141[1191]1241]1291|1341|1391|1441|1491]|1541(1591|1641]|1691 Efztreenz?jes(:hamcal stoppers at
A 50 [ 100|150 [200| 50 | 100|150 |200| 50 | 100|150 |200| 50 | 100|150 |200| 50 | 100|150 |200| 50 | 100 Note 2. Minimum bend radius of motor
[ 1111 [ 122223 [3|3[3|4 4|44 ]|5]5]5][51]616 cabeisRrso.
N 8 8 8 8 {1010 10|10 12|12 |12 |12 |14 |14 |14 |14 | 16 | 16 | 16 | 16 | 18 | 18 Note 3. Weight of models with no brake.
Weight (kg) Note3 25.0]/26.0/27.0(28.0/29.0{30.0/31.0/32.0/33.0/34.0/35.0/36.0/37.0(38.0/39.0/40.0/41.042.0/43.0/44.0/145.0/46.0 The weight of brake-attached
Maximum | Lead 20 1000 800|800 700|700 |600 600|500 models is 2.0 kg heavier than
speed™** | Lead 10 500 400 | 400 350 | 350 | 300 300 | 250 ihe models with no brake shown
(mm/sec) |Speed setting - 80%[80%|70% |70% |60% |60% |50% '

Note 4. When the stroke is longer than 950mm, resonance of the ball screw may occur depending on the operation conditions (critical speed). In this case, reduce the speed setting on the program by referring to the
maximum speeds shown in the table at the left.

SR1-X > 518 [ TS-X » 492 [ RDV-X > 506 |

457




——

=
Bl Cable [Combination g - il Cable length [ | Usable for CE g Input/Outp Input/f ut selection
selection 1
D: Cable duct| [T1 15 to 105cm 15 to 65cm RCX222
m

No entry: Standard IN: NPN Mete! No entry: None
Note 1. NPN cannot be selected if using CE marking.

N1: OP.DIO24/16
f NPN) Nete2
Note 2. Available only for the master. See P.68 for details on YC-Link system.

Note 3. Only when CC or DN or PB was selected for I/O select 1 above, EN can be selected in I/O select 2.

DN: DeviceNet™ P1: OP.DIO24/17
PB: PROFIBUS (PNP)
Ethernet EN: Ethernet "3
: YC-Link "2

X axis Y axis Y stroke (mm) XY 2 axes
Axis construction "' C14H c14 150 20
AC servo motor output (W) 200 100 250 17
- 1

Repeatability " ? (mm) +-0.01 +-0.01 350 5

" 450 13
Drive system Ball screw Ball screw 550 "
Ball screw lead “**°° (Deceleration ratio) (mm) 20 20 650 9
Maximum speed “*** (mm/sec) 1000 1000
Moving range (mm) 150 to 1050 150 to 650
Robot cable length (m) Standard: 3.5 Option: 5, 10
Degree of cleanliness CLASS 10 "
Intake air (N&/min) 60 e
Note 1. Use caution that the frame machining (installation holes, tap holes) differs from single-axis robots'.
Note 2. Positioning repeatability in one direction. Controller Operation method
Note 3. Leads not listed in the catalog are also available. Contact us for details. N N
Note 4. When the X-axis stroke is longer than 850mm, resonance of the ball screw may occur depending on the operation conditions (critical Programming / /O point trace /

speed). In this case, reduce the speed setting on the program by referring to the maximum speeds shown in the table below. RCX222 Remote command

Note 5. Per 1cf (0.1um base), when suction blower is used. Operatlop using RS-232C
Note 6. The necessary intake amount varies depending on the use conditions and environment. communication

SXYxC 2 axes (T1

D-sub connector User tubing 1 (6 black) 51 282+/-3 X stroke
for user cables 136
(Adapted to #1 to 24) User tubing 2 (¢6 red) 5 ‘ 15
User tubing 3 (¢6 blue) an (Note 1)
n.ni =]
12
- 84 (Between
10 o % 4-M6 x 1.0 Depth of screw 12 knocks +-0.02)
=
S|t +0012
A ‘ b 2-$6H7 (*3°2) Depth 10
-8
Detail of user wiring/user tubing o *
o = wlol 2 ol &
o~ R ~Q
0 = V| &H—— <] > IS
© Qo I
© @>71 [ wl
~ 2 N = — Q3
— | )] -
o B A g = i08
<\i s M 190 |+ L 7
5 82 X stroke + 345 —l ‘
3|8 L (X stroke + 478) T i
Sla :
Detail of section A
AN ~NON
// O\
‘s AR
4 v\
8 // \\
= / (/ \ w0l
2 ;/ | SE
= N/ [ oo e P —— ]
\ N = © | E—
~| 2 & t 1 g
= ' S=aE N -
H 1 ™~ .
Grounding terminal (M4) %T N-M6 X 1.0 o —J P
308 M x 200 K Depth of screw 10 &= 75 ®lgle
| 100 200 - (68) 322 b
i
\ 8
‘ =
X stroke 150 | 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 | 1050 Note 1. The moving range when returning to origin and the stop position when stopping
by mechanical stopper.
L 628 | 728 | 828 | 928 | 1028 | 1128 | 1228 | 1328 | 1428 | 1528
K 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100
M 0 1 1 2 2 3 3 4 4 5
N 6 8 8 10 10 12 12 14 14 16
Y stroke ‘ 150 ‘ 250 ‘ 350 ‘ 450 ‘ 550 ‘ 650 ‘ Note 2. When the X-axis stroke is longer than 850mm, resonance of the ball screw may
N - occur depending on the operation conditions (critical speed). In this case, reduce
Maximum speed fo,';:eafh X axis 1000 800 | 650 | 550 the speed setting on the program by referring to the maximum speeds shown in
stroke (mm/sec) Speed setting| — 80% | 65% | 55% the table at the left.

458 RCX222 > 526 |




SXYxC e

4 1\
SXYxC 2 axes (T3
X stroke 282+-3 51 User tubing 1 (¢6 black) D-sub connector
136 . for user cables
50 15 User tubing 2 (¢6 red) {Adapted o #1 to 24)
84 (Bet - User tubing 3 (¢6 blue)
4-M6 x 1.0 Depth of screw 12 kno(ckes‘ﬁ«//e-g&) = 0, (Note 1)
k=)
2-6HT (*59'2) Depth 10 5 !
K]
& % 110
o K I E’ & ‘ A a)
o| & Q| > -
~| & N ) - ) m
- ' o Detail of user wiring/user tubing >
< ©
% ? wl ~ Q2 4
>| o T F
= I K 3 8
110 PRt ® o
106 3 — = PR SLERE=IR~
72 - & SIS
% | © 8 2 &2] 2
T o 9 =i 190 &) L g
Detail of section A X stroke + 345 82 5
L (X stroke + 478) 23
©|Q
T T~
e S
s SN
/- NN
/ AR 2
o]0 P! W\ S
SIS [ A\ iEE
R = e H \
w0 ! d— ® gF
o~
N e ! —
ol 0 75 | NMEx10 %1 Grounding terminal (M4)
) 3 68 2 N-M6 x 1.
gg® = & ] Deptnof screw 10 K Mx200 308 g
| g
J [5)
| =
i
|
X stroke 150 | 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 | 1050 Note 1. The moving range when returning to origin and the stop position when stopping
by mechanical stopper.
L 628 | 728 | 828 | 928 | 1028|1128 | 1228 | 1328 | 1428 | 1528
K 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100
M 0 1 1 2 2 3 3 4 4 5
N 6 8 8 10 10 12 12 14 14 16
Y stroke ‘ 150 ‘ 250 ‘ 350 ‘ 450 ‘ 550 ‘ 650 ‘ Note 2. When the X-axis stroke is longer than 850mm, resonance of the ball screw may
. P occur depending on the operation conditions (critical speed). In this case, reduce
Maximum speed foz:‘_afh ‘ X axis 1000 800 | 650 | 550 the speed setting on the program by referring to the maximum speeds shown in
stroke (mmisec) |Speed setting - 80% | 65% | 55% the table at the left.
. J

RCX222 > 526 | 459




3 axes [ ZSC

© Z-axis shaft vertical type

sXyxC- D { [ [ [ [15{ JRexad0-3[ |
_ J Combi- il _ _ A Cable Controller / W Safety JOption AR Option B g Option C g Option D [ Option E @ Absolute
nation axis length Number of controllable axes |l standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery
[15to 105cm | [15 to 65cm

D: Cable duct]

Specify various controller setting items. RCX340 » P944

| Controller g CE Marking [l Expansion /0 | Network option [l iVY System B Gripper [gf Battery |
Specify various controller setting items. RCX240/RCX240S » P934

—— S Z axis: ‘ Z axis: Y stroke (mm) ZsC12 ZSC6
ZsC12 2SC6 150 to 650 3 5
Axis construction "' C14H c14 -
AC servo motor output (W) 200 100 60
Repeatability "*** (mm) +/-0.01 +/-0.01 +/-0.02
Drive system Ball screw Ball screw Ball screw
Ball screw lead "*°° (Deceleration ratio) (mm) 20 20 12 6
Maximum speed “*** (mm/sec) 1000 1000 1000 500
Moving range (mm) 150 to 1050 150 to 650 150
Robot cable length (m) Standard: 3.5 Option: 5, 10
Degree of cleanliness CLASS 10 Noe*®
Intake air (N¢/min) 90 "e°
Note 1. Use caution that the frame machining (installation holes, tap holes) differs from single-axis robots'.
Note 2. Positioning repeatability in one direction. Controller Operation method

Note 3. Leads not listed in the catalog are also available. Contact us for details.

Note 4. When the X-axis stroke is longer than 850mm, resonance of the ball screw may occur depending on the operation conditions (critical
speed). In this case, reduce the speed setting on the program by referring to the maximum speeds shown in the table below.

Note 5. Per 1cf (0.1um base), when suction blower is used.

Note 6. The necessary intake amount varies depending on the use conditions and environment.

SXYxC 3 axes/ZSC (T1

Programming / 1/0 point trace /
RCX340 Remote command /
RCX240S Operation using RS-232C
communication

51 481+/-3 X stroke
136
S 43
= (Note 1) D-sub connector
w0 = for user cables .
72 (Adapted to #1 to 24) User tubing 1 (6 black)
I 56 !
= User tubing 2 (¢6 red
10 % E 92 (d )
‘ ‘ ks User tubing 3 (6 blue)
i 9
P =
|
I 9‘ = Qf :é $12h7(3015)
{ 5|2
© | — =2
© 0 o : :- I
NS — = ol @ M8 x 1.25 Depth 7
Ll = Detail of section A Detail of user wiring/user tubing
- |2 82 [ o g o seeteisecin®
~ s || LM 190 | = S
o | |82 X stroke + 345
|8 L (X stroke +478)
3|3
149 119 __ _(62)
40
2
% -
- NGB ® R
N oo | o | o]
i - j pop
_ 0 NS
T © | g A
Grounding i
terminal (M4) N 0l Y o \A
= 15 d28 e
308 Mx200 K. NMex10 (68) | 322 == aly 199
‘ . 100 200 Depth of screw 10 =
| 3
ee— — N
‘ o
| E
X stroke 150 | 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 | 1050 Note 1. The moving range when returning to origin and the stop position when stopping
L 628 | 728 | 828 | 928 | 1028 1128 | 1228 | 1328 | 1428 | 1528 by mechanical stopper.
K 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100
M 0 1 1 2 2 3 3 4 4 5
N 6 8 8 10 10 12 12 14 14 16
Y stroke [ 150 [ 250 | 350 | 450 [ 550 | 650 |
Z stroke ‘ 150 ‘ Note 2. When the X-axis stroke is longer than 850mm, resonance of the ball screw may
N N occur depending on the operation conditions (critical speed). In this case, reduce
Maximum speed fozoiafh ‘ X axis 1000 800 | 650 | 550 the speed setting on the program by referring to the maximum speeds shown in
stroke (mm/sec) Speed setting - 80% | 65% | 55% the table at the left.

460 RCX340 > 544 [ RCX2405 > 534 |




SXYxC

( N
SXYxC 3 axes / ZSC (T3
X stroke 481+/-3 51
136
5L 4S5
(Note 1) >
N = 0|
User tubing 1 (6 black) Dstbcomnector B ¢L
$56 for user cables K}
2
(Adapted to #1 to 24) % % m
|3
0| > (@)
& =
+ m
0 2 4 3 >
$12h7(S018) B|@fwl = 5 z
¥ —
~, I 'ﬂ—_r o Te) —° 3
I Wil ©
M8 x 1.25 Depth 7 o ol —l SN
= T iaE=—
Detail of section A Detail of user wiring/user tubing —
©| =4 LQJ 2w
R = 190 | (0| g o
X stroke + 345 82 s
L (X stroke +478) «|B
213
2

(62) _119__ 149

40

|
319 ‘

78
80.5
775

236.5
226.5
|
143.5
]
ik
8
78
80.5
775

f&’

117.5

Grounding

78.5
>

3 i terminal (M4,
3| es ) N-M6 x 1.0 K M x 200 308 erminal (M4) S
199 TS AL 322 Depth of screw 10 200 100 ‘ g
o
s ‘ 2
£ i g
N g | | =
X stroke 150 | 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 | 1050 Note 1. The moving range when returning to origin and the stop position when stopping
L 628 | 728 | 828 | 928 | 1028 | 1128 | 1228 | 1328 | 1428 | 1528 by mechanical stopper.
K 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100
M 0 1 1 2 2 3 3 4 4 5
N 6 8 8 10 10 12 12 14 14 16
Y stroke [ 150 [ 250 [ 350 | 450 | 550 | 650 |
Z stroke ‘ 150 ‘ Note 2. When the X-axis stroke is longer than 850mm, resonance of the ball screw
N B may occur depending on the operation conditions (critical speed). In this case,
Maximum speed fozoiafh ‘ X axis ‘ 1000 800 | 650 | 550 reduce the speed setting on the program by referring to the maximum speeds
stroke (mmisec) |Speed setting| - 80% | 65% | 55% shown in the table at the left.
A\ J

RCX340 > 544 [ RCX2405 > 534 | 461




LN

4 axes | ZRSC

® ZR-axis integrated type P _p['_

/-\_-

SXYxC- D { {1 [ 5[ Rexad0-4] |
Controller / I Safety @ Option AgOption B g Option C g Option D @ Option E @ Absolute
Number of controllable axes |l standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery

Specify various controller setting items. RCX340» P944

_ [ Combi- i M Yaxis | - [A Z axis |
M | [15t0105cm| [15to65cm| [ZRSC12 I3L: 3.5m|
[ZRSC6

D: Cable duct

T

| Controller [ CE Marking [ Expansion /0 B Network option |l VY System i Gripper [l Battery |
Specify various controller setting items. RCX240/RCX240S » P934

X axis Y axis Z axis | Z axis R axis Y stroke (mm) ZRSC12 ZRSC6
ZRSC12 | ZRSC6 150
Axis construction "' C14H Cc14 - R5 250
AC servo motor output (W) 200 100 60 100 350 3 5
Repeatability "*° (XYZ: mm) (R: °) +/-0.01 +/-0.01 +/-0.02 +/-0.005 450
Drive system Ball screw Ball screw Ball screw Harmonic gear 550
Ball screw lead "*°* (Deceleration ratio) (mm) 20 20 12 6 (1/50) 650 4
Maximum speed " (XYZ: mm/sec) (R: ‘/sec) 1000 1000 1000 500 1020
Moving range (XYZ: mm) (R: °) 150 to 1050 150 to 650 150 360
Robot cable length (m) Standard: 3.5 Option: 5, 10
Degree of cleanliness CLASS 10 Noe*®
Intake air (N¢/min) 90 "e°
Note 1. Use caution that the frame machining (installation holes, tap holes) differs from single-axis robots'.
Note 2. Positioning repeatability in one direction. Controller Operation method
Note 3. Leads not listed in the catalog are also available. Contact us for details. N .
Note 4. When the X-axis stroke is longer than 850mm, resonance of the ball screw may occur depending on the operation conditions (critical RCX340 Programming / I/O point trace /
speed). In this case, reduce the speed setting on the program by referring to the maximum speeds shown in the table below. Rem"t‘? Comma”d /
Note 5. Per 1cf (0.1um base), when suction blower is used. RCX240S Operatlop using RS-232C
Note 6. The necessary intake amount varies depending on the use conditions and environment. communication
SXYxC 4 axes / ZRSC (T1
51 481+/-3 X stroke
136
Sl ]
@n D-sub connector
n (Note 1) =] for user cables
ﬁ* k= (Adapted to #1 0 24 User tubing 1 (¢6 black)
K}
o2 56 User tubing 2 (46 red)
10 E: E —‘—l User tubing 3 (46 blue)
=8 -
0 8 C {12 )
o~ - Hg e $12h7(.0018)
m| 3G
3| g ' = [ ol E >
o gl 5P
NS ; — 0 2 M8 x 1.25 Depth 7
(2] | -~ ’ . .
— 5 Detail of section A Detail of user wiring/user tubing
0 > Ll 1 2 g w I ——
o = M 190 | = RN
S| |82 X stroke + 345
o
|8 L (X stroke + 478)
&>
|2
20,12 149 _119 (62)
ﬂ,T
3
2 101 N it
~lo S |
~| 0| ~
=
S ! T o
] - §&
o LT s
Grounding K
terminal (M4) o) 75 )10l RN A
S| 52 ~elE 3= 199
308 M x 200 K N-M6 x 1.0 © k)
Depth of screw 10 %
N
X stroke 150 | 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 |1050 Note 1. The rr:no\{ingI range when returning to origin and the stop position when stopping by
L 628 | 728 | 828 | 928 [1028| 1128 | 12281328 | 1428 | 1528 mechanical stopper:
K 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100
M 0 1 1 2 2 3 3 4 4 5
N 6 8 8 10 10 12 12 14 14 16
Y stroke [ 150 [ 250 | 350 | 450 | 550 | 650 |
Zstroke ‘ 150 ‘ Note 2. When the X-axis stroke is longer than 850mm, resonance of the ball screw may
. P occur depending on the operation conditions (critical speed). In this case, reduce
Maxtlmll:m speled fo,';oiafh X axls. 1000 800 | 650 | 550 the speed setting on the program by referring to the maximum speeds shown in
stroke (mm/sec) Speed setting - 80% | 65% | 55% the table at the left.

162 RCX340 > 544 | RCX2405 > 534




SXYxC

[ SXYxC 4 axes /| ZRSC (T3 N

X stroke 481+/-3 51
136

Ten

Tl
o]

(Note 1)

User tubing 1 (6 black)

D-sub connector
for user cables
(Adapted to #1 to 24)

$56 User tubing 2 (¢6 red)

r—/—\] User tubing 3 (¢6 blue)

110

Y stroke

NV3I1O

Y stroke + 285 (Y-axis length)

VAL L =
$12h7(3015) @ = e p
D g — [0 z
-, | .I ool g o,
M8 x 1.25 Depth 7 3 ol = i Sk
Detail of user wiringluser tubi " e
Detail of section A etail of user wiring/user tubing . = L8] E
b2 = 190 | ()] £
X stroke + 345 82 5
L (X stroke + 478) _;‘é g
(62) 119 149 40, 72 !
40
///
L
<
2 § g8 <
0| 10| Jo | | R
Q|2 E
&8 3
A/ = o © Grounding
?70 3 ; g 2 75 E terminal (M4)
199 2| == 322 (68) -
k] N-M6 x 1.0 K M x 200 308
% Depth of screw 10 200 100 : ‘ g
N ! 2
g | ! 3
X stroke 150 | 250 | 350 | 450 | 550 | 650 | 750 | 850 | 950 | 1050 Note 1. The moving range when returning to origin and the stop position when stopping by
L 628 | 728 | 828 | 928 [ 1028|1128 | 1228] 1328 1428 1528 mechanical stopper:
K 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100 | 200 | 100
M 0 1 1 2 2 3 3 4 4 5
N 6 8 8 10 10 12 12 14 14 16
Y stroke [ 150 | 250 | 350 [ 450 | 550 | 650 |
Zstioke ‘ 150 ‘ Note 2. When the X-axis stroke is longer than 850mm, resonance of the ball screw may
N N occur depending on the operation conditions (critical speed). In this case, reduce
Maximum speed fo,':aiafh ‘ X axis 1000 800 | 650 | 550 the speed setting on the program by referring to the maximum speeds shown in
stroke (mm/sec) |Speed setting - 80% | 65% | 55% the table at the left.
(& J

RCX340 > 544 [ RCX2405 > 534 | 463 W




Clean type: Extra small type

Note. Built-to-order product. Contact us for the delivery period.

YK180XC - 100 -

ROX340-4 |

100: 100mm

Cable length

Controller / @ Safety [ Option A g Option B g Option C @ Option D @ Option E & Absolute
Number of controllable axes i standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery

Specify various controller setting items. RCX340 » P944
Specify various controller setting items. RCX240/RCX240S » P934

X axis Y axis Z axis R axis Controller (Power capacity (VA)|Operation method
Axis Arm length (mm) 7 109 100 - ll;’(r)ogrgn:zning //
specifications i o R R _ _ point trace
P! Rotation angle () +/-120 +/-140 +/-360 RCX340 500 Remote command /
AC servo motor output (W) 50 30 30 30 RCX2408 Operation
Repeatability *°' (XYZ: mm) (R: °) +-0.01 +-0.01 +/-0.004 using RS-232C
communication
Maximum speed (XYZ: m/sec) (R: */sec) 3.3 0.7 1700
Maximum payload (kg) 1.0
Standard cycle time: with 0.1kg payload "*** (sec) 0.42
R-axis tolerable moment of inertia “*°* (kgm?) 0.01
User wiring (sq x wires) 01x8
User tubing (Outer diameter) $3 x2

Travel limit

1.Soft limit, 2.Mechanical limit (X, Y, Zaxis)

Robot cable length (m)

Standard: 3.5 Option: 5, 10

6.5
1.5kg (3.5m) 2.1kg (5m) 4.2kg (10m)
CLASS 10 (0.1 uym base)

Weight (kg) (Excluding robot cable) "***

Robot cable weight

Degree of cleanliness

Intake air (N&/min) 30
Note 1. This is the value at a constant ambient temperature. (X,Y axes)
Note 2. When moving 25mm in vertical direction and 100mm in horizontal direction reciprocally.
Note 3. There are limits to acceleration coefficient settings.
Note 4. The total robot weight is the sum of the robot body weight and the cable weight.
YK180XC
If the robot enters the inside of R30, the Z-axis flange may be
in contact with the base. So, do not perform such motion.
D-sub connector for user cables 9 pin ’ 2 4-97 & &
{Adapted 1o #1 10 8) <892 /4¥5bols usd orntalaion Y .
[ [l —
9325 W
] - Ng8
3 || 3
User tubes 1 (Barb fitting $3) 40.5 125
User tubes 2 (Barb fitting $3) Z-axis flange is in contact with the base in an area
inside from the inner limit of this working envelope.
44 109 71 So, do not perform any motion in this area.
45 Right-hand side system operation range Left-hand side system operation range
500
484 (When the A
/‘\ arm tums 510)
335 ks -
g
©
S 223 )
B e L D-sub connegctor for user cables 9 pin
s £% E c T I (Adapted to #1 to 8)
£ 5 g = A Jﬂlﬂ | Cover internal intake pipe (bulkhead union $8)
S 955 gié g —H“: X, Y, R axis joint section intake pipe (bulkhead union $6)
2 g |Cover z = User tubes 2 (bulkhead union $3)
& T Z| B - Z-axis flange -
-~ I 2| o - User tubes 1 (bulkhead union $3)
[\ = ] =
‘ g g =
0 Sy &
$30h7 -0.021 0 L@J
Details of A Keep enough space for the maintenance gmundmg_terw_‘al o
work at the rear of the base. X axis origin point is
4-M3x 0.5 Depth6 6 24 ¢10H7+%015 Depth 2 0°+/-5° from the
User tool installation tap base front surface
53| 53}/ 4-M3x0.5Depth 6 S
Toa] % <
o o 5 R27 (Min. cable bending radius) 4-¢9 [ o
N 0| Do not move the cable. i
X-axis and Y-axis origin positions

The user tool installation flange center line is
offset within +/-5° relative to the R axis origin point.

Move counterclockwise in advance from the above
position when performing origin return.

Details of B

464 RCX340 > 544 | RCX2405 > 534




Clean type: Extra small type

Note. Built-to-order product. Contact us for the delivery period.

YK220XC-100- RCX340-4- - - - -
m— Cable length Controller / I Safety [ Option A | Option B @ Option C @ Option D g Option E | Absolute
100: 100mm -3 Number of controllable axes | standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery

Specify various controller setting items. RCX340 » P944

RCX2408- | |

| Controller ___[J CE Marking gl Expansion 110 | Network option Il iVY System I Gripper i Battery
Specify various controller setting items. RCX240/RCX240S » P934

X axis Y axis Z axis R axis Controller [Power capacity (VA)|Operation method
Axis Arm length (mm) 111 109 100 - Progr_amming /
specifications [Rotation angle (') +-120 +/-140 - +/-360 RCX340 w0 RO pointtrace |
AC servo motor output (W) 50 30 30 30 RCX240S Operation
Repeatability **' (XYZ: mm) (R: °) +-0.01 +-0.01 +/-0.004 Ez'rzgnfﬁcﬁﬁ
Maximum speed (XYZ: m/sec) (R: ‘/sec) 3.4 0.7 1700
Maximum payload (kg) 1.0
Standard cycle time: with 0.1kg payload “*? (sec) 0.45
R-axis tolerable moment of inertia “*** (kgm?) 0.01
User wiring (sq x wires) 0.1x8
User tubing (Outer diameter) $3x2
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes)
Robot cable length (m) Standard: 3.5 Option: 5, 10
Weight (kg) (Excluding robot cable) "*** 6.5
Robot cable weight 1.5kg (3.5m) 2.1kg (5m) 4.2kg (10m)
Degree of cleanliness CLASS 10 (0.1 ym base)
Intake air (N&/min) 30

Note 1. This is the value at a constant ambient temperature.

Note 2. When reciprocating 100mm in horizontal and 25mm in vertical directions.

Note 3. There are limits to acceleration coefficient settings.

Note 4. The total robot weight is the sum of the robot body weight and the cable weight.

YK220XC

If the robot enters the inside of R30, the Z-axis flange may be
in contact with the base. So, do not perform such motion.

X, Y, R axis joint section intake pipe (bulkhead union ¢6)

‘ After refuming to

D-sub connector for user cables 9 pin 4-97 _ %ﬂ
{Adapted to #1 to 8) ij‘ij 4 M6 bolts used for installation ////// ]
R 5 [ — / %/4 X
28, 3 A
! —N5S i
) (L
I | g3 v
User tubes 1 (Barb fitiing $3) 40.5 125 ™ )
User ubes 2 (Barb iing $3) s o et It S wakrg oo
So, do not perform any motion in this area.
44 109 111 Right-hand side system operation range Left-hand side system operation range
45 500
M
484 (When the mf 1
/—\ arm turns 510)
335 i il
g
©
S
= 23
g %j D-sub connector for user cables 9 pin
£ L} 183 (Adapted to #1 to 8)
8 955 il Cover internal intake pipe (bulkhead union ¢8)
2
2
o

— Qﬁ % User tubes 2 (bulkhead union $3)
0 E’ g User tubes 1 (bulkhead union ¢3)
$30h 7-0021 F'E
Details of A T
0 - :
4M3x0.5 Depthb 16__ 24 _ $10H7 +0.015 Depth 2 Keep enough space for the maintenance grounding terminal
User tool installationtap 53T 537/ 4-mM3%05 Depth 6 work at the rear of the base. X axis origin point is
0°+/-5° from the %
7 3 i base front surface @\ o
| p ¢ °
N[O ) é\—w
0 R27 (Min. cable bending radius) 4-¢9 i
Details of B Do not move the cable. X-axis and Y-axis origin positions
Details of B The user tool installation flange center line is P
—_— i o M S Move counterclockwise in advance from the above
offset within +/-5° relative to the R axis origin point. position when performing origin return.

RCX340 > 544 [ RCX2408 > 534 | 465




466

YK250XGC-150-

m— B Toolflange [ Bl Cable length
150: 150mm | |No entry: None 'S: With hollow shaft| [3L: 3.5m

Clean type: Small type

RCX340-
Controller / W Safety [ Option A &g Option B @ Option C @ Option D | Option E @ Absolute
Number of controllable axes i standard (OP.A) (OP.B) (OP.C) (OP.| (OP.E) battery

Specify various controller setting items. RCX340 » P944

4-

IF: With tool flange| 5L: 5Sm
ch24os Tttty
Specify various controller setting items. RCX240/RCX240S » P934
X axis Y axis Z axis R axis Controller (Power capacity (VA)|Operation method
Axis Arm length (mm) 100 150 150 - Programming /
specifications n 5 % % - - 1/0 point trace /
P! Rotation angle () +/-129 +/-134 +/-360 RCX340 1000 Remote command /
AC servo motor output (W) 200 150 50 100 RCX2408 Operation
Repeatability *°' (XYZ: mm) (R: °) +-0.01 +-0.01 +/-0.004 using RS-232C
communication
Maximum speed (XYZ: m/sec) (R: */sec) 4.5 11 1020
Maximum payload (kg) 4
Standard cycle time: with 2kg payload (sec)""*** 0.57
" . i Note3 2
R-axls tolerable moment/of Inertla =7 (kgmy) 0.05 Note. The movement range can be limited by changing the positions
User wiring (sq x wires) 0.2x10 of X and Y axis mechanical stoppers. (The movement range is
" N set to the maximum at the time of shipment.)
User tubing (Outer diameter) b4x4 See our robot manuals (installation manuals) for detailed
e . . information.
Travel limit 1.Soft limit, 2.Mechanical stopper (X' Y, Z axes) Note. To set the standard coordinates with high accuracy, use a

Robot cable length (m)

Standard: 3.5 Option: 5, 10

Weight (kg)

215

standard coordinate setting jig (option). Refer to the user’s
manual (installation manual) for more details.

Degree of cleanliness

ISO CLASS 3 (ISO 14644-1) " *+ESD"*®

Intake air (N&/min)

30 Noes

Our robot manuals (installation manuals) can be
downloaded from our website at the address below:

tor.

Y

Note 1. This is the value at a constant ambient temperature. (X,Y axes)
Note 2. When reciprocating 25mm in vertical direction and 300mm in horizontal direction (rough-positioning arch motion).
Note 3. There are limits to acceleration coefficient settings. See P.609.

Note 4. Class 10 (0.1pm) equivalent to FED-STD-209D

Note 5. ESD (ElectroStatic Discharge) prevention is an option. Please contact our distributor.
Note 6. The necessary intake amount varies depending on the use conditions and environment.

YK250XGC

User tubing 3 (¢4 blue)

4-M3 x 05 Depth 5

If the robot enters the inside from the inner limit of the
working envelope, the Z-axis bellows may be in contact

Connector for user wiring - p C C A
(No.1 o 10 usable, cableclamp size: $13.1to15) | LSET g 4 (b4 White) (No phase relation fo R-axis origin.) et e a8 o1 118 S ey b I oo ion
Cover with the caps provided when not used. | —— As this hole is intended for the If the robot enters the
= = b wiringtubing clamp, do not inside of R40, the Z-axis
- == diO/IOW attach a large load to it. bellows may be in contact
= 0% Bmete. b1 | with the base. So, do not
D ™~ perform such motion.
User tubing 1 (¢4 black) =
Insert the plug provided when not used. 30 62 | 499 . .
M8 bolt for installation, 4 bolts used é,
134 d
User tubing 2 (¢4 red)/ 1011531 130 1:% (Base size) 3 "
564F 150 100 17
839 i Maximum 240 during arm rotation
809
3|
689 1 Machine Harness * Note that the robot cannot be used at a position
661 632410 where the base flange, robot cable, spline,
614 M " 660 bellows, and tool flange interfere with each other
== d aximum i in the working envelope shown above.
uring arm rotation + X-axis mechanical stopper position : 131°
I « Y-axis mechanical stopper position : 136°
a 510 User tubing 1 (&4 black)
l L Insert the plug provided when not used.
428
User tubing 2 (¢4 red)
o o Since this port is not used it with th lied with the joint
283 43 s | | User tubing 3 (4 blue) ince this port is not used, cover it with the cap supplied with the joint.
264 ] C -
246 . ’ onnector for user wiring
234 390 | L ] 557 Usertubing 4 (¢4 white) (No.1 to 10 usable, cable clamp size: $13.1 to15)
D' 202 Cover with the caps provided when not used.
167
© O] 98
% = 61
® . 32
E 0 g 0 0 70
2 o Z-axis upper end mechanical stopper position " i
E 2 ? Z-axis rises 4mm during return-to-origin. M4 ground terminal o
§ 955 7?? Z-axis lower end mechanical stopper position o o
. = ~_User tool installation range
5070 20 5 5 & Keep enough space for the maintenance o 9
Cross section A-A e oy work at the rear of the base. ‘_0
2o ’;A\ $16h7-0018
o o Z axis tip shape

Tapped hole for user wiring 6-M3 x 0.5 Depth 6
The weight of the tool attached here should be
added to the tip mass.

R32 (Min. cable bending radius)
Do not move the cable.

RCX340 > 544 [ RCX2405 > 534 |




YK250XGC

" YK250XGC Tool flange mount type

If the robot enters the inside from the inner limit of the

183 (Base size)

Machine Harness

User tubing 3 (¢4 blue) i lope, the Z-axis ball be i tact
Connector for user wiring " " 4-M3 x 0.5 Depth 5 working envelope, the Z-axis bellows may be in contac
(No.1 to 10 usable, cable clamp size: $13.1 to1s) | DT 1ubing 4 (b4 yhie) (No phase relation to Reaxis origin,) e base of ihe arm may be i contact with the
Cover with the caps provided when not used. < — As this hole is intended for the f the robot enters the
= = . wiring/tubing clamp, dp not inside of R40, the Z-axis
o X N\ H:I‘: 33 dVO//OW attach a large load to it bellows may be in contact
S )} oIS o with the base. So, do not
/A = U perform such motion.
User tubing 1 (¢4 black) =
Insert the plug provided when not used. = ‘ 82 ‘ :llg golt for installation, 4 bolts used S
* 13.4 N7 ©
User tubing 2 (¢p4 red)| 10| 53 130 12 3 y

+ Note that the robot cannot be used at a position
where the base flange, robot cable, spline,
bellows, and tool flange interfere with each other
in the working envelope shown above.

+ X-axis mechanical stopper position : 131°

+ Y-axis mechanical stopper position : 136°

User tubing 1 (¢4 black)
Insert the plug provided when not used.

==

User tubing 2 (¢4 red)

Since this port is not used, cover it with the cap supplied with the joint.

65
50.5+2

Connector for user wiring
(No.1 to 10 usable, cable clamp size: $13.1 to15)

Cover with the caps provided when not used.

R o
150

28 Keep enough space for the maintenance

work at the rear of the base.

131]

&

L)

Tapped hole for user wiring 6-M3 X 0.5 Depth 6
The weight of the tool attached here should be
added to the tip mass.

o o |
R32 (Min. cable bending radius)/ 4b1

Do not move the cable.

o0
ol ¢30 h7-0.021
0.012
455 d4H7 0" troughvhole N
Detailed drawing D DAY

View of E

NV3I1O

VdvOsS

RCX340 > 544 [ RCX2405 > 534 |

467 W



YK350XGC- 150 -

TR - ool flange g
150: 150mm No entry: None |S: With hollow shaft| |3L: 3.5m

Clean type: Small type

S RCX340-4-

Hollow shaft [ Cable length

Controller / W Safety [ Option A | Option B @ Option C & Option D & Option E | Absolute
Number of controllable axes | standard (OP.A) (OP.B) (OP.C) (OP.| (OP.E) battery

- Wil Jo] : . - . .
F: With tool flange Specify various controller setting items. RCX340 » P944
Specify various controller setting items. RCX240/RCX240S » P934
X axis Y axis Z axis R axis Controller (Power capacity (VA)|Operation method
Axis Arm length (mm) 200 150 150 - Programming /
specifications n 5 % % - - 1/0 point trace /
P! Rotation angle () +/-129 +/-134 +/-360 RCX340 1000 Remote command /
AC servo motor output (W) 200 150 50 100 RCX2408 Operation
Repeatability *°' (XYZ: mm) (R: °) +-0.01 +-0.01 +/-0.004 using RS-232C
communication
Maximum speed (XYZ: m/sec) (R: */sec) 5.6 11 1020
Maximum payload (kg) 4
Standard cycle time: with 2kg payload (sec)""*** 0.57
" . i Note3 2
R-axls tolerable moment/of Inertla =7 (kgmy) 0.05 Note. The movement range can be limited by changing the positions
User wiring (sq x wires) 0.2x10 of X and Y axis mechanical stoppers. (The movement range is
" N set to the maximum at the time of shipment.)
User tubing (Outer diameter) b4x4 See our robot manuals (installation manuals) for detailed
e . . information.
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) Note. To set the standard coordinates with high accuracy, use a
Robot cable length (m) Standard: 3.5 Option: 5, 10 standard coordinate setting jig (option). Refer to the user’s
N manual (installation manual) for more details.
Weight (kg) 22
Degree of cleanliness ISO CLASS 3 (ISO 14644-1) " *+ESD"** Qur robot manuals (installation manuaje) canbe
Intake air (N&/min) 30 Noee : y tor. inessirobot/

Note 1. This is the value at a constant ambient temperature. (X,Y axes)

Note 2. When reciprocating 25mm in vertical direction and 300mm in horizontal direction (rough-positioning arch motion).
Note 3. There are limits to acceleration coefficient settings. See P.609.

Note 4. Class 10 (0.1pm) equivalent to FED-STD-209D

Note 5. ESD (ElectroStatic Discharge) prevention is an option. Please contact our distributor.

Note 6. The necessary intake amount varies depending on the use conditions and environment.

YK350XGC

Connector for user wiring
(No.1 to 10 usable, cable clamp size: $13.1 to15)

Cover with the caps provided when not used.

User tubing 1 (¢4 black)
Insert the plug provided when not used.

User tubing 3 (¢4 blue)

4-M3 x 0.5 Depth 5

If the robot enters the inside
from the inner limit of the

User tubing 2 (¢4 red)
564F 150
839 -
809

689

212 (No phase relation to R-axis origin.) working envelope, the Z-axis
As this hole is intended for the bellows may be in contact with
— wringiubingcamp, G0 ot s bane ot e arm ey b
N J </ o HO//OW attach a large load to it. harness. So, do not perform
T B\ SR = dlémet . such motion.
1 7 ) o e $17 i
= S
= N J
30| | [62] 409 ) @
M8 bolt for installation, 4 bolts used ~
10 (/53] 130 |12 134] | [134
183 (Base size) View of F
200 117
Maximum 190 during arm rotation

Machine Harness

632+10
Maximum 660
during arm rotation

510

428

User tubing 3 (¢4 blue)

246

User tubing 4 (¢4 white)

221
202

167

* Note that the robot cannot be used at a position
where the base flange, robot cable, spline,
bellows, and tool flange interfere with each other
in the working envelope shown above.

+ X-axis mechanical stopper position : 131°

+ Y-axis mechanical stopper position : 136°

User tubing 1 (¢4 black)
Insert the plug provided when not used.

User tubing 2 (¢4 red)

Since this port is not used, cover it with the cap supplied with the joint.

Connector for user wiring
(No.1 to 10 usable, cable clamp size: ¢13.1 to15)

Cover with the caps provided when not used.

0

Width across flats: 15

o
<

Z-axis upper end mechanical stopper position

M4 ground terminal

70

\User tool installation range

Cross section A-A

Tapped hole for user wiring 6-M3 x 0.5 Depth 6

The weight of the tool attached here should be
added to the tip mass.

468

Z-axis rises 4mm during return-to-origin. 10 26
Z-axis lower end mechanical stopper position 131
20 5 5 28 Keep enough space for the maintenance
work at the rear of the base.
. -t
o o |
R32 (Min. cable bending radius) \4-411

Do not move the cable.

RCX340 > 544 [ RCX2405 > 534 |

$16h7-§o1
Z axis tip shape




YK350XGC

e N
YK350XGC Tool flange mount type
Wser tting 3 (64 bve) 43 X 05 Depth § o o g 2
Connector for user wiring ) User tubing 4 (4 white) (No phase relation to R-axis origin.) ki lope, the Z-axi
(No.1 to 10 usable, cable clamp size: $13.1 to15) 212 As this hole is infended for the bellows may be in contact with
- - il i the base or the arm may be in
Cover with the caps provided when not used. Q| _ . } " :,t!tgr:;%lgjllj;?gecllgzip{odi(t) not the base or the machin)é A
‘Q ,ﬂ <] o T0lloy, . harness. So, do not perform -
o T =) | e 2 a © such motion. m
® L 7z < o & ~ o >
User tubing 1 (¢4 black) — © N z
Insert the plug provided when not used. 30| |62] 4-¢9 . , 2
User tubing 2 M8 bolt for installation, 4 bolts used 134 134
92 (¢4 red) 10]/63] 130 ||12
183 (Base size)
« Note that the robot cannot be used at a position
where the base flange, robot cable, spline,
Machine Harness bellows, and tool flange interfere with each other
in the working envelope shown above.
« X-axis mechanical stopper position : 131°
« Y-axis mechanical stopper position : 136°
1 User tubing 1 (¢4 black)
J L Insert the plug provided when not used.
User tubing 2 (¢4 red)
o Since this port is not used, cover it with the cap supplied with the joint.
User tubing 3 (¢4 blue)
. ' Connector for user wiring
User tubing 4 (¢4 white) (No.1 to 10 usable, cable clamp size: $13.1 t015)
Cover with the caps provided when not used.
D] 98
61
50.5+2
32 < »
X (@]
>
2
28 Keep enough space for the maintenance
work at the rear of the base.
. et
o o
Tapped hole for user wiring 6-M3 x 0.5 Depth 6 R32 (Min. cable bending radius) \4-$11
The weight of the tool attached here should be . . .
addod tgthe 1 mass Do not move the cable. Detailed drawing D View of E

RCX340 > 544 [RCX2405 > 534 469 W




Clean type: Small type

YK400XGC-150- - 1 [fRCX3404- - - 4 H ¢
_ : _ _ [l Cable Controller / @ Safety [ Option A g Option B g Option C @ Option D @ Option E & Absolute
m Zaxisstrokey Tool flange gy Hollow shaft | |0y BN Number of controliable axes ©or.A) [l ore) l “(orc) B “(op) J “(orE) [ vattery
[150: 150mm .

No entry: None . . Lo
Specify various controller setting items. RCX340 » P944

RCX240S- | |

| Controller [ CE Marking [glExpansion /0 [ Network option ] iVY System [ Gripper [ Battery |
Specify various controller setting items. RCX240/RCX240S » P934

X axis Y axis Z axis R axis Controller (Power capacity (VA)|Operation method
Axis Arm length (mm) 250 150 150 - Programming /
specifications - 5 % % - - 1/0 point trace /
P! Rotation angle () +/-129 +/-144 +/-360 RCX340 1000 Remote command /
AC servo motor output (W) 200 150 50 100 RCX2408 Operation
Repeatability *°' (XYZ: mm) (R: °) +-0.01 +-0.01 +/-0.004 using RS-232C
communication
Maximum speed (XYZ: m/sec) (R: */sec) 6.1 11 1020
Maximum payload (kg) 4
Standard cycle time: with 2kg payload (sec)""*** 0.57
5 P i Note3 2
R-axis tolerable moment of inertia (kgm ) 0.05 Note. The movement range can be limited by changing the positions
User wiring (sq x wires) 0.2x10 of X and Y axis mechanical stoppers. (The movement range is
" " set to the maximum at the time of shipment.)
User tubing (Outer diameter) b4ax4 See our robot manuals (installation manuals) for detailed
A A B information.
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) Note. To set the standard coordinates with high accuracy, use a
Robot cable length (m) Standard: 3.5 Option: 5, 10 standard coordinate setting jig (option). Refer to the user’s
" manual (installation manual) for more details.
Weight (kg) 22.5
O bot Is (installati I b
Degree of cleanliness SO CLASS 3 (IS0 14644-1) "***+ESD""** Gownioadd o our webl a1 e adares below:
Intake air (N&/min) 30 Noe® : y t iness/robot/

Note 1. This is the value at a constant ambient temperature. (X,Y axes)

Note 2. When reciprocating 25mm in vertical direction and 300mm in horizontal direction (rough-positioning arch motion).
Note 3. There are limits to acceleration coefficient settings. See P.610.

Note 4. Class 10 (0.1um) equivalent to FED-STD-209D

Note 5. ESD (ElectroStatic Discharge) prevention is an option. Please contact our distributor.

Note 6. The necessary intake amount varies depending on the use conditions and environment.

YK400XGC

User tubing 3 (¢4 blue)

4-M3 x 05 Depth 5

Connector for user wiring

(No.1to 10 usable, cable clamp size: $13.1 to15) 212 (No phase relation to R-axis origin.)
- - | isi If the robot enters the inside
Cover with the caps provided when not used. ! Qﬁ’iﬁ‘é?lﬁ&lsglillgﬁgégg I‘%rtthe from the inner limit of the
—— ‘Q < 9 Ho// - working envelope, the Z-axis
o =) 2/ ©| o i ow attach a large load to it. bellows may be in contact with
) ) o i Mets, @7 o0 the base or the arm may be in
™| contact with the machine
User tubing 1 (¢4 black) /é“ “ g‘} harrr\]ess.t_So, do not perform
Insert the plug provided when not used. 30 62 | ;\‘Ag)g it for installation. 4 bolts used N Y Sueh Tomon.
User tubing 2 (&4 red) olt for installation, 4 bolts use 134 134
10| 53 130 12
183 (Base size) View of F
56'F 150 250 17
839 i Maximum 190 during arm rotation
809
S « Note that the robot cannot be used at a position
© X where the base flange, robot cable, spline,
= Machine Harness bellows, and tool flange interfere with each other
689 in the working envelope shown above.
661 632410 + X-axis mechanical stopper position : 131°
614 Maximum 660 + Y-axis mechanical stopper position : 146°

during arm rotation

510 i

W

User tubing 1 (¢4 black)
Insert the plug provided when not used.

T

User tubing 2 (¢4 red)

Since this port is not used, cover it with the cap supplied with the joint.

User tubing 3 (¢4 blue)

“
4 ; ’ Connector for user wiring
234 | ] %‘2‘? User tubing 4 (¢4 white) (No.1 to 10 usable, cable clamp size: ¢13.1 t015)

Cover with the caps provided when not used.

i far

Z-axis upper end mechanical stopper position
Z-axis rises 4mm during return-to-origin.

o J;{\ Z-axis lower end mechanical stopper position 131

150

Width across flats: 15

5 70 20 28 Keep enough space for the maintenance =
2 2 work at the rear of the base. ; ;
S User tool installation range

Cross section A-A
= 5 ] 1675018

o o
Tapped hole for user wiring 6-M3 x 0.5 Depth 6 R32 (Min. cable bending radius) 4-11 Z axis tip shape
The weight of the tool attached here should be Do not move the cable. -

added to the tip mass.

470 RCX340 > 544 [RCX2405 > 534




YK400XGC

e N\
YK400XGC Tool flange mount type
c ot o User tubing 3 (¢4 blue) 4-M3 % 0.5 Depth 5
onneclor for user wiring : (No phase relation to R-axis origin.) If the robot enters the
(No.1to 10 usable, cable clamp size: $13.1 to15) 212 As this hole is intended for the infsirc‘ie fm"l}!he innelr limit
Cover with the caps provided when not used. | wiring/tubing clamp, do not of the working envelope,
—_ = Ss Dllow \ attach a large oad ot in Soniaci wilhhe bace o o)
o ol = oo the arm may be in contact [
> o < ™| N vSvith‘}he n;achrifne hamehss. ;
User tubing 1 (¢4 black) = © = & So, do not perform suc >
Insert the plug provided when not used. ‘ 62 J 449 ~|
Usertubing 2 (¢4 red) M bolt for installation, 4 bolts used 134
10| 53 130 12 View of F
183 (Base size)
+ Note that the robot cannot be used at a position
where the base flange, robot cable, spline,
bellows, and tool flange interfere with each other
. in the working envelope shown above.
Machine Hamess + X-axis mechanical stopper position : 131°
+ Y-axis mechanical stopper position : 146°
User tubing 1 (¢4 black)
Insert the plug provided when not used.
User tubing 2 (¢4 red)
, Since this port is not used, cover it with the cap supplied with the joint.
User tubing 3 (¢4 blue)
Connector for user wiring

User tubing 4 (¢4 white)

(No.1 to 10 usable, cable clamp size: $13.1 to15)
Cover with the caps provided when not used.

i
e 58 %
45
32 32
3
6| |22.5 [}
M4 ground terminal 0 el ] 26 Q
1 $35 >
31 Y
ey >
28 Keep enough space for the
maintenance work at the
rear of the base. ~
[T TE] [930h7-8021
— A 55 paH7 5"
Tapped hole for user wiring 6-M3 x 0.5 Depth 6 R32 (Min. cable bending radius) 4-p11 ' )
The weight of the tool attached here should be Do not move the cable. Detailed drawing D

added to the tip mass.

RCX340 > 544 [RCX2405 > 534 471




Clean type: Medium type

YK500XGLC- 150 - - S - RCX3404, - -
m— Z axis stroke [ Tool flange [ Hollow shaft [ Cable length Controller / I Safety & Option A g Option B & Option C @ Option D @ Option E | Absolute
Number of controllable axes |l standare (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery
: ; : P
F-with ool flange Specify various controller setting items. RCX340» P944

RCX240S- | |

[ Controller | CE Marking [lExpansion 1/0 [ Network option iV System [ Gripper i Battery |
Specify various controller setting items. RCX240/RCX240S » P934

X axis Y axis Z axis R axis Controller (Power capacity (VA)|Operation method
Axis Arm length (mm) 250 250 150 - Programming /
specifications |Rotation angle (°) +/-129 +/-144 - +/-360 c I/0 point trace / ,
RCX340 Remote command

AC servo motor output (W) 200 150 50 100 RCX240S 1000 Operation
Repeatability "' (XYZ: mm) (R: °) +/-0.01 +/-0.01 +/-0.004 using RS-232C
Maximum speed (XYZ: m/sec) (R: “/sec) 5.1 11 1020 communication
Maximum payload (kg) 4
Standard cycle time: with 2kg payload (sec)"**** 0.74
R-axis tolerable moment of inertia "°t* (kng) 0.05 Note. The movement range can be limited by changing the positions

— " of X and Y axis mechanical stoppers. (The movement range is
User wiring (sq x wires) 0.2x10 set to the maximum at the time of shipment.)
User tubing (Outer diameter) bax4 See our robot manuals (installation manuals) for detailed

9 information.
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) Note. To set the standard coordinates with high accuracy, use a
_ P standard coordinate setting jig (option). Refer to the user’s
Robot cable length (m) Standard: 3.5 Option: 5, 10 manual (installation manual) for more details.
Weight (kg) 25 - -
- Nowd Nolos Our robot manuals (installation manuals) can be

Degree of cleanliness ISO CLASS 3 (ISO 14644-1) +ESD downloaded from our website at the address below:
Intake air (N¢/min) 30 e il t Ibusiness/ /

Note 1. This is the value at a constant ambient temperature. (X,Y axes)

Note 2. When reciprocating 25mm in vertical direction and 300mm in horizontal direction (rough-positioning arch motion).
Note 3. There are limits to acceleration coefficient settings. See P.610.

Note 4. Class 10 (0.1pm) equivalent to FED-STD-209D

Note 5. ESD (ElectroStatic Discharge) prevention is an option. Please contact our distributor.

Note 6. The necessary intake amount varies depending on the use conditions and environment.

YK500XGLC
4-M3 x 0.5 Depth 5 Ifthe robot enters the
User tubing 3 (¢4 blue) (No phase refation to R-axis origin.) oFthe working amvelope.
f As this hole is intended for the the Z-axis bellows may be
Connector for user wiring User tubing 4 (¢4 white) wiringftubing clamp, do not in contact with the base or

the arm may be in contact
with the machine harness.

(No.1 to 10 usable, cable clamp size: $13.1 to15) 212 HO//OW attach a large load to it.

Cover with the caps provided when not used. 8 © . So, do not perform such
= ~ motion.
| 2 S
8 e B Y
Z g~ @
User tubing 1 (¢4 black) 134
Insert the plug provided when nof used. 40 View of F
User tubing 2 (4 red) a0l | [6o| M8 boltfor instalation, 4 bols used
10{|53] 130 [[12
183 (Base size,
IF « Note that the robot cannot be used at a position
56 250 250 117 where the base flange, robot cable, spline,
852 1 Maximum 160 during arm rotation bellows, and tool flange interfere with each other
822 in the working envelope shown above.
S « X-axis mechanical stopper position : 131°
702 2 Machine Hamess « Y-axis mechanical stopper position : 146°
674 675+10
Maximum 730 User tubing 1 (¢4 black)
627 during arm rotation
User tubing 2 (¢4 red)
523 Insert the plug provided when not used.
=
\\ 441
51 57 Since this port is not used, cover it with the cap supplied with the joint.
43| .
48 User tubing 3 (4 blue) Connector for user wiring
256 User tubing 4 . (No.1 to 10 usable, cable clamp size: $13.1 to15)
%; ser tubing 4 (¢4 white) Cover with the caps provided when not used.
Z-axis bellows 167 93
o A by £ Liey- 08
T 45 61
g 1 | — 3 )
2 0 '8 e
8 Z-axis upper end mechanical stopper position 6]]. |22.5 70
S Z-axis rises 4mm during return-to-origin. M4 ground terminal /10 26 ¢
P |
§ Z-axis lower end mechanical stopper position B1]

28 Keep enough space for the maintenance

10

38
N

S 5 work at the rear of the base. N\ u | installati
o 8| / Q| \ _User tool installation range
Cross section A-A 0
— SNSEAe o, o % } 16 h7-0018
s s
Tapped hole for user wiring 6-M3 x 0.5 Depth 6 R32 (Min. cable bending radius)/ '\ Z axis tip shape
The weight of the tool attached here should be Do not move the cable. 411

added to the tip mass.

472 RCX340 > 544 [RCX2405 > 534




YK500XGLC

( YK500XGLC Tool flange mount type

Connector for user wiring
(No.1 to 10 usable, cable clamp size: $13.1 to15)

Cover with the caps provided when not used.

User tubing 3 (¢4 blue)
User tubing 4 (¢4 white

If the robot enters the

4-M3 x 0.5 Depth 5 inside from the inner limit

User tubing 1 (¢4 black)
Insert the plug provided when not used.
User tubing 2 (¢4 red)

(No phase relation to R-axis origin.) of the working envelope,
As this hole is intended for the It:ec gmaaxS &e'uolvr:: bmaas):a boer
wiring/tubing clamp, do not ;
212 attach a large load to it. 3'}?:1361"; mg(y:m;"hg%‘;ig
K © ° 8o, do not perform such
Y= : ~ N motion.
74 = * Al
" wilvetd
M8 bt forinstallztion, 4 ol used - e Y
30 62 olt for installation, 4 bolts use View of F /‘ % 7
10|53 130 /12 2
I\ A
183 (Base size) %
* Note that the robot cannot be used at a position
where the base flange, robot cable, spline,
bellows, and tool flange interfere with each other
in the working envelope shown above.
« X-axis mechanical stopper position : 131°
« Y-axis mechanical stopper position : 146°
Machine Harness
User tubing 1 (¢4 black)
User tubing 2 (¢4 red)
Insert the plug provided when not used.
Since this port is not used, cover it with the cap supplied with the joint.
User tubing 3 (¢4 blue) Connector for user wiring
. . (No.1 to 10 usable, cable clamp size: $13.1 to15)
User tubing 4 (¢4 white Cover with the caps provided when not used.
9113 h
Linhe 98
45 61
? 32 %%
§ L
6l |225
M4 ground terminal /10 26
il $35

Keep enough space for the

28 maintenance work at the

rear of the base.

Tapped hole for user wiring 6-M3 x 0.5 Depth 6

$30h7- 8.021

+0.012

)

$4H7 0~ " through-hole

The weight of the tool attached here should be
addeg'to the tip mass.

= !
R32 (Min. cable bending radius)
Do not move the cable. \4-$11

Detailed drawing D View of E

NV3I1O

VdvOsS

RCX340 > 544 [RCX240S > 534

473 W



@ Arm length 500mm @ Maximum payload 10kg
@ Ordering.
YK500XC-| | [ RCX3404{ & ~ & =+ + & LE
stroke length Number of controllable axes |l standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery
Specify various controller setting items. RCX340 » P944

| Controller __[ICE Markinglgl Regeneratizve uit [l Expansion 110 B Network option Il VY System [ Gripper i Battery |
Specify various controller setting items. RCX240/RCX240S » P934

M Basic specifications H Controller

X axis Y axis Z axis R axis Controller |Power capacity (VA) Operation method
Axis Arm length (mm) 250 250 200 ‘ 300 - Programming /
specifications | Rotation angle (°) +/-120 +/-142 - +/-180 I/0 point trace /
AC servo motor output (W) 400 200 200 100 Egigjg_R 1500 Remggeﬁgﬂga"d !
Repeatability "' (XYZ: mm) (R: °) +/-0.02 +/-0.01 +/-0.005 using RS-232C
Maximum speed (XYZ: m/sec) (R: ‘/sec) 4.9 17 876 communication
Maximum payload (kg) 10
Standard cycle time: with 2kg payload (sec) 0.53
R-axis tolerable moment of inertia "*°? (kgm?) 0.12
User wiring (sq x wires) 0.2x20
User tubing (Outer diameten) FE e o e o o e posters
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) set to the maximum at the time of shipment.) ]
Robot cable length (m) Standard: 3.5 Option: 5, 10 ﬁ?:r::;rﬁlgjb.ot manuals (installation manuals) for detailed
Weight (kg) 31 Our robot manuals (installation manuals) can be
Degree of cleanliness CLASS 10 "°*® downloaded from our website at the address below:
Intake air (N/min) 60 Noted p t iness/robot/

Note 1. This is the value at a constant ambient temperature. (X,Y axes)

Note 2. There are limits to acceleration coefficient settings.

Note 3. Per 1cf (0.1um base), when suction blower is used.

Note 4. The necessary intake amount varies depending on the use conditions and environment.

YK500XC
54.5, 250 . 250 122.5
R-axis <47 _| User tubes 2 (¢6 Red) - &, —% ‘
i i <
rotating radius | _L{ser tubes 3 (¢6 Blue) ¢ g SN0
7 N o8
= / \ IE? ,ﬁ«g g
| Ji 9| <
L 2
o User tubes 1 R
D-sub connector for user wiring
(Adapted to No.1 to 20) (96 Black) 57 | 73 4-911
| 1 ] Use M10 bolt for installation
(base dimensions) MAX
Z300mm stroke: 940
876 //, ]
Z200mm stroke
41
667
\
|
2x2-M4x07 \ 561
Depth 10 |
f,spaprgiirfgside) 54 20 ‘ X,Y axis mechanical stopper position
N+ | }
g
363 ] l o] 364
9 l_ 282
i
(72}
% 225542 1M ¢13-8.018 M4 grounding terminal 7] ! D-sub connector for user wiring
> 68 R27 (Min. cable | User tubes 1 (66 Black) 1 (Adapted o No 1 o 20)
$90 l[))endn:g radius) | User tubes 2 (46 Red) \ Joint (Note)
8 M12 x 1.75 Depth 10 ;| ponotmove | User tubes 3 (¢6 Blue) ‘1 ®12x3pcs)
- 102
g ‘ 91 73 69
LU 48 gg ‘ i 53
'7 Bl 15 = %
0 0 oL— 0
- Keep enough space for the maintenance / 4-49 Note: For details about tubing work, refer to the User's Manual.
work at the rear of the base.
\_l_[ k at th f the b:

474 RCX340 » 544 | RCX240 > 534 |




YK600XGLC - 150 -

m— [ Tool flange [ Hollow shaft @ Cable length
150: 150mm INo entry: None S:

Clean type: Medium type

S

RCX340-4-

With hollow shaft| [3L: 3.5m

Controller / i Safety & Option A | Option B g Option C & Option D @ Option E @ Absolute
Number of controllable axes i standard (OP.A) (OP.B) P.C) (OP.D) (OP.E) battery

IE-With tool lange] Specify various controller setting items. RCX340 » P544
Specify various controller setting items. RCX240/RCX240S » P934
X axis Y axis Z axis R axis Controller [Power capacity (VA)|Operation method
Axis Arm length (mm) 350 250 150 - Programming /
specifications |Rotation angle (°) +/-129 +/-144 - +/-360 c I/0 point trace / ;
RCX340 Remote command
AC servo motor output (W) 200 150 50 100 RCX240S 1000 Operation
Repeatability "' (XYZ: mm) (R: *) +/-0.01 +/-0.01 +/-0.004 using RS-232C
Maximum speed (XYZ: m/sec) (R: ‘/sec) 4.9 11 1020 communication
Maximum payload (kg) 4
Standard cycle time: with 2kg payload (sec)"*"*? 0.74
R-axis tolerable moment of inertia "3 (kgmz) 0.05 Note. The movemer)t range can be limited by changing the positioqs
of X and Y axis mechanical stoppers. (The movement range is
User wiring (sq x wires) 0.2x10 set to the maximum at the time of shipment.)
User tubing (Outer diameter) baxd i(feoer:;:;iroontfot manuals (installation manuals) for detailed
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) Note. To set the standard coordinates with high accuracy, use a
K P standard coordinate setting jig (option). Refer to the user’s
Robot cable length (m) Standard: 3.5 Option: 5, 10 manual (installation manual) for more details.
Weight (kg) 2 Our robot manuals (installation manuals) can be
Degree of cleanliness ISO CLASS 3 (ISO 14644-1) V°*+ESD""*® downloaded from our website at the address below:
Intake air (N¢/min) 30 Nl ps:/g y t iness/robot/
Note 1. This is the value at a constant ambient temperature. (X,Y axes)
Note 2. When reciprocating 25mm in vertical direction and 300mm in horizontal direction (rough-positioning arch motion).
Note 3. There are limits to acceleration coefficient settings. See P.610.
Note 4. Class 10 (0.1um) equivalent to FED-STD-209D
Note 5. ESD (ElectroStatic Discharge) prevention is an option. Please contact our distributor.
Note 6. The necessary intake amount varies depending on the use conditions and environment.
YK600XGLC
User tubing 3 (¢4 blue) 4-M3 x 0.5 Depth 5 The arm may be in
Connector for user wiring " " ' c 0 is oriqi tact with th hil
(No.1 to 10 usable, cable clamp size: $13.1 to15) User tubing 4 (¢4 whitg 212 (No p;as;.re:t:or? t(.) ?_a:sdofngl{;) ﬁg?naecssvm an aer;naaicnslir:jz
Cover with the caps provided when not used. ;g w?ringl?tugir?g;scllgrﬁg go n%rt © < from the inner limit of this
= — H attach a large load toit 2 %, Working envelope. So, do
o ) A\ 38| o loloy : ©= not operate the arm in
S — 71— - S ay o $ i this area.
- Z 8 ~| V) i
User tubing 1 (&4 black) c Ty Repp /I“'\
Insert the plug provided when not used. 30 62 ‘ M8 bolt for installation, 4 bolts used 2 ‘ '
User tubing 2 (4 red) 10][53] 130 |[12 . 134 134 o® A ’
183 (Base size View of ‘ %
IF o
56 250 350 117 * Note that the robot cannot be used at a position
852 I Maximum 170 during arm rotation where the base flange, robot cable, spline,
822 bellows, and tool flange interfere with each other
S in the working envelope shown above.
2 « X-axis mechanical stopper position : 131°
702 5 Machine Harness 675:10 « Y-axis mechanical stopper position : 146°
674 Maximum 740 User tubing 1 (b4 black)
627 during arm rotation i 9
‘ User tubing 2 (b4 red)
523 i Insert the plug provided when not used.
=
441 '
51 57 User tubing 3 (¢4 blue) ! Since this port is not used, cover it with the cap supplied with the joint.
43 48 User tubing 4 (4 white) -
j Connector for user wiring
256 (No.1 to 10 usable, cable clamp size: $13.1t015)
N 5(2); Cover with the caps provided when not used.
© Z-axis bellows 167 g{li \
i A 8 b/ 98
. 5 HesLl
g 1 Ly
g Z-axis upper end mechanical stopper position , ]| [22.5
5 Z-axis rises 4mm during return-to-origin. M4 ground terminal /* 10[ [| 26 470
= Z-axis lower end mechanical stopper position 31 :
$38

Cross section A-A

Keep enough space for the maintenance

28
work at the rear of the base.

SIN_User tool installation range

Tapped hgle for user wiring 6-M3 X 0.5 Depth 6

The weight of the tool attached here should be
added fo the tip mass.

7]
s

R32 (Min. cable bending radius)
Do not move the cable.

°

\ 4-411

S

0
$16 h7-0.018
Z axis tip shape

RCX340 > 544 [RCX2405 > 534

475




YK600XGLC

[ YK600XGLC Tool flange mount type
User tubing 3 (¢4 blue)

The arm may be in
iri 4-M3 x 0.5 Depth 5 . .
((I:\I%T ?oc t10[)r Lg;glz,ercxlréngamp size: $13.11015) 212 (No phase relation to R-axis origin.) ﬁg?;ae?sﬂ g:ﬁh:rg]aa%hslirgjz
Cover with the caps provided when not used. © As this hole is intended for the from the inner limit of this
b = b wiring/tubing clamp, do not 75, working envelope. So, do
S X 33 o 70lloy, "\ attach a large load to it. © not operate the arm in
S| [ E—— > D) R a @ s this area.
W\
User tubing 1 (¢4 black) o0 = b
Insert the plug provided when not used. 0 0 M8 bolt for installation, 4 bolts used i
User tubing 2 (¢4 red), 10183 130 |12 134 134
183 (Base size) View of F

+ Note that the robot cannot be used at a position
where the base flange, robot cable, spline,
bellows, and tool flange interfere with each other
in the working envelope shown above.

« X-axis mechanical stopper position : 131°
« Y-axis mechanical stopper position : 146°

User tubing 1 (¢4 black)

User tubing 2 (¢4 red)
Insert the plug provided when not used.

Machine Harness

User tubing 3 (4 blue)
User tubing 4 (¢4 white)

Since this port is not used, cover it with the cap supplied with the joint.

Connector for user wiring
(No.1 to 10 usable, cable clamp size: $13.1 to15)
Cover with the caps provided when not used.

Z-axis bellows

=B OI~N©O
ORI

M4 ground terminal /' 10 26

(%] 86.5
Q 31
2 Bl
Keep enough space for the
> 50 70 20 28 maintenance work at the
o 2 rear of the base. n
8] / ol
9| ‘
) ) $55
Tapped hole for user wiring 6-M3 x 0.5 Depth 6 R32 (Min. cable bending radius) \4-911
The weight of the tool attached here should be Do not move the cable. Detailed drawing D View of E

added to the tip mass.

476 RCX340 » 544 RCX240S > 534




@ Arm length 600mm @ Maximum payload 10kg
[ Ordering.

YK600XC-_ || RCX340-4-

Cable
length

Controller / @ Safety [ Option A g Option B @ Option C [ Option D @ Option E & Absolute
Number of controllable axes i standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery

Specify various controller setting items. RCX340 » P544

RCX240-

| Controller _ BICE Markingl Regeneraizve uit | Expansion 10 i Network option [l iVY System R Gripper [ Battery |
Specify various controller setting items. RCX240/RCX240S » P934

M Basic specifications

M Controller

X axis Y axis Z axis R axis Controller |Power capacity (VA) Operation method
Axis Arm length (mm) 350 250 200 300 - Programming /
specifications [Rotation angle (°) +/-120 +/-145 - +/-180 RCX340 R 110 it)oint trace /d ;
emote comman
AC servo motor output (W) 400 200 200 100 RCX240-R 1500 Operation
Repeatability "*°"' (XYZ: mm) (R: °) +/-0.02 +/-0.01 +/-0.005 using RS-232C
Maximum speed (XYZ: m/sec) (R: “/sec) 5.6 17 876 communication
Maximum payload (kg) 10
Standard cycle time: with 2kg payload (sec) 0.56
R-axis tolerable moment of inertia " (kgm?) 0.12
User wiring (sq x wires) 0.2x20
n . Note. The movement range can be limited by changing the positions
User tubing (Outer diameter) $6x3 of X and Y axis mechanical sto A
ppers. (The movement range is
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) set to the maximum at the time of shipment.) _
Robot cable Iength (m) Standard: 3.5 Option: 5, 10 i«fa:r;ual;i?nb.o! manuals (installation manuals) for detailed
Weight (kg) 33 Now3 Our robot manuals (installation manuals) can be
Degree of cleanliness CLASS 10 " downloaded from our website at the address below:
Intake air (N&/min) 60 Mo p t i obot/
Note 1. This is the value at a constant ambient temperature. (X,Y axes)
Note 2. There are limits to acceleration coefficient settings.
Note 3. Per 1cf (0.1pm base), when suction blower is used.
Note 4. The necessary intake amount varies depending on the use conditions and environment.
e N
YK600XC
545 250 ) 350 122.5
47 | User tubes 2 ($6 Red) %,
) ) . [ ey L B
R-axis rotating radius User tubes 3 (6 Blue) & - N \f\o —
. S| o, T
V7 N > / 0
N T ee
/ / N K o ™, 9 -
;/ ?ﬁo %
D-sub connector for user wiring
User tubes 1
Adapted to No.1 to 20 57| 73 4-911
(Adap ) (96 Black) | 166 Use M10 bolt for installation
(base dimensions)
MAX
Z300mm stroke 940
876
Z200mm stroke
41
667.5
2x2MAx07 5605
Depth 10
(same for . . »
opposing side) 54 20 X,Y axis mechanical stopper position
81 4 | } D-sub connector for user wiring
363 ] ol 364 (Adapted to No.1 to 20)
—
. Joint (Note)
o - l 282 ($12x 3 pcs.)
e [ i : M4 grounding terminal
225.5+/-2 il ¢13-8.018 R27 (Min. cable User tubes 1 (¢6 Black
$68 bending radius) User tubes 2 (6 Red)
$90 Do not move the User tubes 3 ($6 Blue
= M12 x 1.75 Depth 10 .| cable. 102
° 91 3 69
3 55 53
e UJ 48 35 36
) S — £| ‘ : 15 0— 0
| 4-49 0 Note: For details about tubing work, refer to the User's Manual.
L_l Keep enough space for the maintenance
work at the rear of the base.

RCX340 > 544 RCX240 > 534 |

NV3I1O

VdvOsS

477 BN




YK700XC i

8 Ordering.
YK700XC-|

ROX340-4] | 1
Number of controllable axes | standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery
Specify various controller setting items. RCX340 > P544

| Controller _[ICE MarkinglQl Regeneraizve it | Expansion 110 i Network option I VY System B Gripper i Battery |
Specify various controller setting items. RCX240/RCX240S » P934

M Controller

Cable
length

M Basic specifications

X axis Y axis Z axis R axis Controller |Power capacity (VA) Operation method
Axis Arm length (mm) 350 350 200 ‘ 400 - Programming /
specifications |Rotation angle (°) +/-120 +/-145 - +/-180 I/0 point trace /
AC servo motor output (W) 800 400 400 200 RO = 2000 R coonand!
Repeatability "' (XYZ: mm) (R: °) +/-0.02 +/-0.01 +/-0.005 using RS-232C
Maximum speed (XYZ: m/sec) (R: “/sec) 6.7 17 600 communication
Maximum payload (kg) 20
Standard cycle time: with 2kg payload (sec) 0.57
R-axis tolerable moment of inertia "“*? (kgm?) 0.32
User wiring (sq x wires) 0.2x20
User tubing (Outer diameter) 463 Note The moyementang can e ited by changng e postors
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) set to the maximum at the time of shipment.)
Robot cable Iength (m) Standard: 3.5 Option: 5, 10 i?:rrt:;rﬁab.ot manuals (installation manuals) for detailed
Weight (kg) 57 Our robot manuals (installation manuals) can be

. Note 3

Degree of cleanliness CLASS 10 downloaded from our website at the address below:
Intake air (N¢/min) 60 Mot ps: v " " robot/

Note 1. This is the value at a constant ambient temperature. (X,Y axes)

Note 2. There are limits to acceleration coefficient settings.

Note 3. Per 1cf (0.1um base), when suction blower is used.

Note 4. The necessary intake amount varies depending on the use conditions and environment.

YK700XC
User tubes 1 (¢6 Black) D-sub connector for user wiring
User tubes 2 (¢6 Red) (Adapted to No.1 to 20)
User tubes 3 ($6 Blue) 2
2
58 350 350 ¢ 147
{0 [ ) oo - D4
,/ ISy AN .
5 -
& \ R-axis rotating radius A5 M o
< Ly 4-b14
70 80 Use M12 bolt for installati
106 93 se olt for installation
MAX
956 1020
Z400mm
stroke
756
Z200mm
stroke 683
586
X,Y axis mechanical stopper position
376 4 377
279 ) User tubes 1 (46 Black)
J0|1n; (N2c>te) User tubes 2 (46 Red)
cs.) \ —
206421 922 Qo1 R27 (Min. cable bending (¢12x2pos.) E*—— User tubes 3 (¢6 Blue)
% - ® radius) 180 ! 180
o $90 Do not move the cable. || 160
);E =} - ® 140 = 140
N - Q
2 M12 x 1.75 Depth 10 97 M4 grounding terminal
8 il 54 - 7 0 59
= Y —===5420 =
0 [ —1 =51 ol _lp
119.5 ET Joint (Note) ($12) D-sub connector for user wirin,
Keep enough space for the maintenance work at / 4-69 (Adapted to No.t0 20)
the rear of the base. Note: For details about tubing work, refer to the User’s Manual.
(0 P

478 RCX340 » 544 | RCX240 > 534 |




YK800XC )

@ Arm length 800mm M@ Maximum payload 20kg ]
: 1
YK800XC- || RCX340-4| =~ + + o - o
stroke length Number of controllable axes |l standard (OP.A) (OP.B) (OP.C) (OP.D) (OP.E) battery
Specify various controller setting items. RCX340 » P944

| Controller __[ICE Markinglgl Regeneratizve uit [l Expansion 110 B Network option Il VY System [ Gripper i Battery |
Specify various controller setting items. RCX240/RCX240S » P934

M Basic specifications H Controller

G

‘1 oy

X axis Y axis Z axis R axis Controller |Power capacity (VA) Operation method
Axis Arm length (mm) 450 350 200 400 - Programming /
specifications | Rotation angle (°) +/-120 +/-145 - +/-180 /0 point trace /
AC servo motor output (W) 800 400 400 200 Egﬁ:gﬂ 2000 Rem"otsecr‘;;ma”d /
Repeatability "*°"' (XYZ: mm) (R: °) +/-0.02 +/-0.01 +/-0.005 using RS-232C
Maximum speed (XYZ: m/sec) (R: ‘/sec) 7.3 17 600 communication
Maximum payload (kg) 20
Standard cycle time: with 2kg payload (sec) 0.57
R-axis tolerable moment of inertia " (kgm?) 0.32
User wiring (sq x wires) 0.2x20
User tubing (Outer diameten) 402 e e o e ey oo e ot
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) set to the maximum at the time of shipment.) )
Robot cable length (m) Standard: 3.5 Option: 5, 10 i«fa:r;ual;i?nb.o! manuals (installation manuals) for detailed
Weight (kg) 58 Our robot manuals (installation manuals) can be
Degree of cleanliness CLASS 10 "*e? downloaded from our website at the address below:
Intake air (N¢/min) 60 "t P t i obot/

Note 1. This is the value at a constant ambient temperature. (X,Y axes)

Note 2. There are limits to acceleration coefficient settings.

Note 3. Per 1cf (0.1pm base), when suction blower is used.

Note 4. The necessary intake amount varies depending on the use conditions and environment.

s N
YK800XC
User tubes 1 (¢6 Black)
User tubes 2 (¢6 Red) D-sub connector for user wiring
User tubes 3 (96 Blue)  /(AdeptedtoNo.T1020) g
58 350 450 @ 47 A
INE B =
e P 7SN © =
g \ i A.A A ol g z
9 e gy 18 © ) Bk
S \ ' 2
o - ‘ _
& R-axis rotating radius # ANr s
< %] 70 |80 441
106 93 Use M12 bolt for installation
MAX1020
956
Z400mm
stroke
756
Z200mm
stroke
683
586
\ X,Y axis mechanical stopper position
376 l 377
e \ = 1 279 ) User tubes 1 (¢6 Black)
g + L M User tubes 2 ($6 Red)
206412 622 9001 (612x2pcs) 7] [~/ User tubes 3 (¢6 Blue)
4—‘%4)90 R ® R27 (Min. cable 180 ! 180 %
bending radius) \x | 160 o
s 5 (<] Do not move the cable. 14083 - 140 >
< R W12 1.75 Deptn 10 o7 ‘ 2
s il 54 M4 grounding ! 59
< \_M Y ;a terminal %,
0 [ —] =310 ol —lo
119.5 ET 449 Joint (Note) D-sub connector for user wiring
Keep enough space for the maintenance work at / ($12) (Adapted to No.1to 20)
the rear of the base. Note: For details about tubing work, refer to the User’s Manual.
il
(174) L

RCX340 > 544 [ RCX240 > 534 | 479




YK1000XC ™

[ Ordering | 1
YK1000XC- | [ RCX340-4, ~ - - - - ©

=1‘ il

_ Cable Controller / I Safety [ Option A5 Option B @ Option C [ Option D @ Option E | Absolute
length Number of controllable axes |l standard (OP.A) (OP.B) (OP.C) (OP.D) (O battery
: fBL: 35m |

Specify various controller setting items. RCX340 > P544

| Controller __[JCE Markinglgd Regeneratizve uit |l Expansion 10 B Network option B iVY System I Gripper gl Battery |
Specify various controller setting items. RCX240/RCX240S » P934

M Basic specifications H Controller

X axis Y axis Z axis R axis Controller |Power capacity (VA) Operation method
Axis Arm length (mm) 550 450 200 ‘ 400 - Programming /
specifications |Rotation angle (°) +/-120 +/-145 - +/-180 I/0 point trace /
AC servo motor output (W) 800 400 400 200 RO = 2000 R coonand!
Repeatability "' (XYZ: mm) (R: °) +/-0.02 +/-0.01 +/-0.005 using RS-232C
Maximum speed (XYZ: m/sec) (R: “/sec) 8.0 17 600 communication
Maximum payload (kg) 20
Standard cycle time: with 2kg payload (sec) 0.60
R-axis tolerable moment of inertia "“*? (kgm?) 0.32
User wiring (sq x wires) 0.2x20
User tubing (Outer diameter) 463 Note The moyementang can e ited by changng e postors
Travel limit 1.Soft limit, 2.Mechanical stopper (X, Y, Z axes) set to the maximum at the time of shipment.)
Robot cable Iength (m) Standard: 3.5 Option: 5, 10 i?:rrt:;rﬁab.ot manuals (installation manuals) for detailed
Weight (kg) 59 Our robot manuals (installation manuals) can be

. Note 3

Degree of cleanliness CLASS 10 downloaded from our website at the address below:
Intake air (N¢/min) 60 Mot ps: v " " robot/

Note 1. This is the value at a constant ambient temperature. (X,Y axes)

Note 2. There are limits to acceleration coefficient settings.

Note 3. Per 1cf (0.1um base), when suction blower is used.

Note 4. The necessary intake amount varies depending on the use conditions and environment.

YK1000XC
User tubes 1 (¢6 Black) »
User tubes 2 (§6 Red) D-sub connector for user wiring
User tubes 3 (b6 Blue) (Adapted to No.1 to 20) «%
58 450 550 'l
N
N 2
) A d T w ~|
, Gdd)) o
&, : '
Qegé’ \ R-axis rotating radius 5 ng_;{ ol
1L06 T 93 " Use M12 bolt for installation
MAX1020
956
Z400mm
stroke
756
Z200mm
stroke
671
586
376 37 Maximum working envelope
v ‘ !
279 . User tubes 1 (46 Black)
o] Joint (Note) User tubes 2 ($6 Red)
" 226+/-2 $22 201 ($12x2pes.) ’Ej\___ User tubes 3 (6 Blue)
Q $90 ® R27 (Min. cable 180 ' 180
):E ® bending radius) 140 I: ‘ 160
s 8 . Do not move the cable. > 140
@ M12 x1.75 Depth 10 97 M4 grounding | :
] i 54 terminal il 59
= d—--= 170 - P
0 [ —1T—1 ol _lo
195 | =f \ Joint (Note) D-sub connector for user wirin
Keep enough space for the maintenance 4-69 (®12) (Adapted to No.1 o 20)
work at the rear of the base. Note: For details about tubing work, refer to the User's Manual.
o
(174) o

480 RCX340 » 544 | RCX240 > 534 |




	CLEAN ROBOTS SPECIFICATION SHEET
	SINGLE-AXIS
	SSC04
	SSC05
	SSC05H
	C4L
	C4LH
	C5L
	C5LH
	C6L
	C8
	C8L
	C8LH
	C10
	C14
	C14H
	C17
	C17L
	C20

	CARTESIAN  XY-XC
	SXYxC
	SXYxC
	SXYxC

	SCARA  YK-XC
	YK180XC
	YK220XC
	YK250XGC
	YK350XGC
	YK400XGC
	YK500XGLC
	YK500XC
	YK600XGLC
	YK600XC
	YK700XC
	YK800XC
	YK1000XC


